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Paper II : 8-Commerce

Sl. No.1
QBID:18001

Which one of the following non-tariff barriers is to be adequately addressed by India while signing FTA with any country
that has potential to import fruits, vegetables and other plant based products from India?

. Phytosanitary regulations

. Sanitary regulations

. Complex Registrations

. Restrictive customs procedure

(4) 4

YRA Y B, Gieorgi 3R a-eafcl AR =1 SHIGAYY S dld Sdlal od YR gRT ] G/ & 914 U ¢ IR
SHIER a9y HafRad ¥ ¥ fhd Uch ok DRIAR R Y4t 0 ¥ &9 (G Sar g 2

1. BIgeHed f[afay
2. W fafgy
3. Sfed Yoo
4. Ut fed Hiarged ufhar
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=32901] Question Description : commerce_commerce_set 1_english_q1
2[Option ID=32902]
3[Option ID=32903]
4[Option ID=32904]

Sl. No.2
QBID:18002

According to the Heckscher-Ohlin theory, which one of the following statements is correct?

. Trade should take place among countries that have greater differences in their factor endowments.

. A country with a relatively cheaper cost of labour would export labour-intensive products

. Country benefits from international trade even if it is less efficient than other nations.

. Countries with the proximity of geographical locations would have greater trade compared to the distant ones.

R e N

11
(2) 2
(3) 3
4) 4

geR-SeleH aid & ouR, Fefafad 4 & -9 HU9 gl g 2

1. 31 = & & AR b1 ST Mg e Id1e 3@ & oiF it 3R g |
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1) 1
(2) 2
(3) 3
4) 4

1[Option ID=32905] Question Description : commerce_commerce_set 1_english_q2
2[Option ID=32906]
3[Option ID=32907]
4[Option ID=32908]
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Sl. No.3
QBID:18003

Which one of the following FTA was signed in February, 2022 and came into force in May, 2022?

. AI-ECTA Australia - India Economic Cooperation and Trade Agreement

. India-UAE Comprehensive Economic Partnership Agreement (CEPA)

. India-Nepal Treaty of Trade

. India-Singapore Comprehensive Economic Cooperation Agreement (CECA)

T O B

1) 1
(2) 2
3) 3
(4) 4

frgfeRad # g th. A0 W Bad, 2022 H g5dier f6U Y 3R A3, 2022 H yafdd foear w2

USR-S RSTer- YRd o1 Ygal Uayq AR HRR
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. HRA-RITQR AU 1S JgaiT R (Hi i)

11
) 2
(3) 3
(4) 4

B R I

1[Option ID=32909] Question Description : commerce_commerce_set 1_english_q3
2[Option ID=32910]
3[Option ID=32911]
4[Option ID=32912]

Sl. No.4
QBID:18004

The Government of India on 27-9-22 extended the existing Foreign Trade Policy (2015-20) upto which one of the following
on account of volatile global economic and geo-political situation and currency fluctuations?

. December, 2022
. March, 2022

. September, 2023
. December, 2023
(1) 1

(2) 2

3) 3

(4) 4

YRA IRBR (&A1 27-9-22 B G&1 SAR-AEE B R YD 3M1id YIoriiad Rifd & Feel T giaH faex
MR Hifd (2015-20) BT FHGfARGT & 9 {69 959 db & oy fawar fearg 2

1. f&gaR, 2022
2. {d, 2022
3. fOdaR, 2023
4. fa8aR, 2023

(1) 1

() 2

(3) 3

(4) 4

B R A

1[Option ID=32913] Question Description : commerce_commerce_set 1_english_q4
2[Option ID=32914]
3[Option ID=32915]
4[Option ID=32916]

Sl. No.5
QBID:18005

Which one of the following Ind AS is related to "The Effects of Changes in Foreign Exchange Rates"?

.Ind AS 19
.Ind AS 115
.Ind AS 103
.Ind AS 21
(1) 1

(2) 2

B R
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3) 3
4) 4

fAgfeiRad o U ®IH-91 U Ind-As “fde2fl fafaa &1 ¥ g1 ard uRdd4l & uHalh 4 GrEied g 2

.Ind AS 19

.Ind AS 115
.Ind AS 103
.Ind AS 21

(1) 1

(2) 2

3) 3

(4) 4

S R R

1[Option ID=32917] Question Description : commerce_commerce_set 1_english_q5
2[Option ID=32918]
3[Option ID=32919]
4[Option ID=32920]

Sl. No.6
QBID:18006

Policy of 'Playing Safe' followed by the accountant is based on which one of the following concepts?

. Dual Aspect Concept

. Conservation Conventions

. Money Measurement Concept
. Realization Concept

B R

(1) 1
(2) 2
(3) 3
(4) 4

BRI GRT IR TR T DI A1 9 T F fhT T SGeRuN TR YR 2

1. Gl U8 DI S@yRon
2. Eearal ulvgrfedt
3. FET-HUS HGHRUM

4. Uit (RUTSSIR) SEYRoT

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=32921] Question Description : commerce_commerce_set 1_english_q6
2[Option ID=32922]

3[Option ID=32923]
4[Option ID=32924]

Sl. No.7
QBID:18007

X and Y are partners in a firm sharing profits in the ratio 4:5. X surrenders 1/4 of his share and Y surrenders 1/5 of his share
in favour of Z, the new partner. What will be the new profit sharing ratio of the firm's partners?

.4."1

L322
2.55:44:81
345502
4,44 .55: 81
(1) 1
(2) 2
(3) 3
(4) 4

X 3R v Ud BH H GEIER € 3R 4:5 3FUd | 1Y dicd T | X 310 388 &1 1/4 T8I 3R v 30 fgsd &1 1/5 fgs
IUHREIER z & U& B BIS ¢d § | BH & AIAGR! &1 741 A1 [aUTSH SuTd &1 i 2

L
55:44: 81
.S"‘J

I A

44 :55:81

4=

1
2
3.
4,
1) 1
) 2
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3) 3
(4) 4

1[Option ID=32925] Question Description : commerce_commerce_set 1_english_q7

2[Option ID=32926]

3[Option ID=32927]

4[Option ID=32928]

Sl. No.8

QBID:18008

Net profit after taxes of a firm is Rs.1,00,000 and its fixed interest charges on long term debt are Rs.20,000. What is the

interest coverage ratio if the rate of income tax is 60% ?

. 13 times

. 13.5 times
. 12.5 times
. 5 times
1) 1

(2) 2

(3) 3

(4) 4

a3 DR & b6 U Y DI g d1H F. 1.00.000/- § 3R 2HD crddbifeidd BN IR fRR AT YR = 20,000/~ 8 |
e D D G 60% g <l TSl ATBTled ST 1 g 2

BERICH
1357
1257
ST
1) 1

@ 2

3) 3

(4) 4

s

R e R

1[Option ID=32929] Question Description : commerce_commerce_set 1_english_q8
2[Option ID=32930]
3[Option ID=32931]
4[Option ID=32932]

Sl. No.9
QBID:18009

The study of unemployment is the subject matter of which one of the following Economics?

. Descriptive Economics
. Normative Economics
. Micro Economics

. Macro Economics

1) 1

) 2

3) 3

(4) 4

SRISATR] &1 31eagH HafciRad o 9 by 1= & favges] g 2

B R B

1. QUHTHS 3R
2. A Y HURRA
3. & S

4. 95 AR

1[Option ID=32933] Question Description : commerce_commerce_set 1_english_q9
2[Option ID=32934]
3[Option ID=32935]
4[Option ID=32936]

Sl. No.10
QBID:18010
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Which one of the following commodities has the most inelastic demand?

1. Cigarette
2. Soap

3. Ice-cream
4, Salt

(1) 1

(2) 2

(3) 3

4) 4

frafead # 9 fog avg &1 galfud sor= A e 2

1. e

PRIEGH

3. YD

4. TH®

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32937] Question Description : commerce_commerce_set 1_english_q10
2[Option ID=32938]

3[Option ID=32939]
4[Option ID=32940]

Sl. No.11
QBID:18011

'Sales Revenue Maximization' as an alternate objective of business firms was postulated by whom of the following?

. 0.E. Williamson
. Cyert and March
. W.1T. Baumol

. K.W. Rothschild
(1) 1

(2) 2

(3) 3

(4) 4

DHRIAR] BH & ddhicdd 36 & U H (a1 A6 ATYBTHIGIOr B AR (HAfeiRagd & § [dhu- udd @1 i 2

1. 313, faferame
2. W A
3. S, of. ddld

4. ®. 3%Y, J=eeS

1) 1
(2) 2
(3) 3
(4) 4

B R B

1[Option ID=32941] Question Description : commerce_commerce_set 1_english_q11
2[Option ID=32942]
3[Option ID=32943]
4[Option ID=32944]

Sl. No.12
QBID:18012

Which one of the following statements is correct regarding the slope and the point elasticity on all the points on a
rectangular hyperbola shaped demand curve of a product?

. Slope remains the same while point elasticity goes on changing.
. Slope goes on changing while point elasticity remains the same
. Both slope and point elasticity remain the same

. Both slope and point elasticity go on changing

1) 1

(2) 2

3) 3

4) 4

S A
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I Y T ¢ 2

1. YUTdT 981 ¥gdl § Sdih (4 did URafdd gidi gdl ¢ |
2. fofg < 981 gl § Sidich Uqural uRdfcd gl gl ¢ |
3. UqUIdT 4 fdg ol Ml SHM GA © |

4. 9qurar 4 fdg & gl uRafdd gid 3gd 3 |

o 2

3) 3

4) 4

1[Option ID=32945] Question Description : commerce_commerce_set 1_english_q12

2[Option ID=32946]

3[Option ID=32947]

4[Option ID=32948]

Sl. No.13

QBID:18013

The current market price of a company's share is Rs.90 and the expected dividend per share next vear is Rs.4.50. If the

dividends are expected to grow at a constant rate of 8 per cent, the shareholders required rate of return is :

8%

13%

20%

) 1

) 2

(3) 3

(4) 4

TP SHU-1 & AR DI ddHH JTSIR BIAD = 90 § 3R 3FTel 94 SfUTET Ufd TR ATHIRI = 4.50 T | IfG ATHII & 8
TR 1 FRR & U gig §H DI 3= 81, Tl ITRYRDI o e 3UfEd A &1 & 9 o I 1 g1t

R e

5%

%
13%

20%

2w -

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32949] Question Description : commerce_commerce_set 1_english_q13
2[Option ID=32950]

3[Option ID=32951]
4[Option ID=32952]

Sl. No.14
QBID:18014

The Kinked-shaped revenue curve of a firm relates to which one type of the market structure?

. Perfect Competition

. Oligopoly

. Monopoly

. Monopolistic Competition
1 1

(2) 2

3) 3

4) 4

Tl U8 &1 fhd STHR PI IAS™d I b I U fhd UHR &I SR a1 H Helfeid g2

1. gof ufaeget

2. AAMYBR

3. UBIUBR

4. THIYSHRT Ui
(1) 1
(2) 2

B R
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3) 3
(4) 4

1[Option ID=32953] Question Description : commerce_commerce_set 1_english_q14
2[Option ID=32954]
3[Option ID=32955]
4[Option ID=32956]

Sl. No.15
QBID:18015

"Value-additivity prineiple' implies in which one of the following methods of capital budgeting ?

. Pay back period method
. NPV method

. IRR method

. ARR method

(1) 1

(2) 2

3) 3

(4) 4

Uil SeicTarvl &1 fFafafad 0 9 6y fafy o e gt dr Rgia sidfiigd 8 2

o= aroierafy fafe
NPV fafe
.IRR faf¥
. ARR faf¥f

1) 1
(2) 2
(3) 3
(4) 4

O B

B e

1[Option ID=32957] Question Description : commerce_commerce_set 1_english_q15
2[Option ID=32958]
3[Option ID=32959]
4[Option ID=32960]

Sl. No.16
QBID:18016

The risk free rate is 6 per cent, the market risk premium is 9 per cent and the beta of share is 1.54, then what is cost of equity
9

. 23%
19%
. 13%
. 20%
(1) 1
) 2
(3) 3
4) 4

s Fqoa & 6 gfawd &, TR SEH WfAgs 9 gfaed & A aew 7 fier 1.54 ¢, &t s 1 anrd
foraer & ?

23%
19%
13%
. 20%
1)1
(2) 2
(3) 3
(4) 4

O

AR e e

1[Option ID=32961] Question Description : commerce_commerce_set 1_english_q16
2[Option ID=32962]
3[Option ID=32963]
4[Option ID=32964]

Sl. No.17
QBID:18017
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While averaging rates and ratios where time factor is variable and the act being performed is constant, which one of the
following measures of Central Tendency is appropriate?

. Arithmetic average
. Mode

. Harmonic mean

. Geometric mean
(1) 1

(2) 2

3) 3

(4) 4

& 9 30Tl BT YA HI B gU, STd GHY HRb =R 51 AR Fsaiied fobar o 3g1 e fRR 1. 4l <1 Uid< &1
9 T H B 1H 91 H19d ST § 2

. 9gd®d

. TPRIAS A1

SR Jre

) 1

() 2

(3) 3

4) 4

B

B S

1[Option ID=32965] Question Description : commerce_commerce_set 1_english_q17
2[Option ID=32966]
3[Option ID=32967]
4[Option ID=32968]

Sl. No.18
QBID:18018

If two regression coefficients are 0.8 and 1.2, which one of the following is the value of coefficient of correlation?

1. 0.97
. 0.96
. 1.00
.0.80
1) 1
(2) 2
(3) 3
(4) 4

e & GHIYFUI 0N 0.8 3R 1.2 8, < Ggdas Ul &l (89§ Y B 91 g 8R1 2

.0.97
.0.96
. 1.00
.0.80
(1) 1
) 2
(3) 3
4) 4

NEN PR

S R

1[Option ID=32969] Question Description : commerce_commerce_set 1_english_q18
2[Option ID=32970]
3[Option ID=32971]
4[Option ID=32972]

Sl. No.19
QBID:18019

Which one of the following statements is true ?

1. For a symmetrical distribution g, =0

2. Kurtosis means 'lack of symmetry'.

3. B2 can be negative

4. Skewness studies the flatness or peakedness of the distribution
(1) 1
(2) 2
3) 3

(4) 4
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fAgfciRad & U &IH 91 UH gl 82

1. G fdeRor & o0 g, = o

2. debell AT 1 31 € -Gy &1 3purar |

3. 8, BUIHD gl DI G |

4. AV U TacRUT & YU AT DI DT T HIA1 ¢ |
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32973] Question Description : commerce_commerce_set 1_english_q19
2[Option ID=32974]
3[Option ID=32975]
4[Option ID=32976]

Sl. No.20
QBID:18020

Which one of the following statements is incorrect?

. Algebraic sum of deviations taken from Arithmetic Mean is zero
. The sum of absolute deviations taken from Median is the largest

. Standard deviation is always less than range
. The sum of the squares of deviations of a given set of observations is minimum, when taken about the arithmetic mean.

B R B

11
(2) 2
(3) 3
(4) 4

fAgfciRad § U &IH 91 U= gl el 62

1. BT 17 § foie 7 fa<ei| &1 S iordia arT A gidre |

2. T1ieT Y ford U fFARug faareHl &1 i gaifers giar g |

3. G f[daeH sHM IR Y HATIAI© |

4. PO T § 1T S WR, T&ll & Ued Yoy & fadal, & 9 1 qi YAqH g g |

11
(2) 2
(3) 3
4) 4

1[Option ID=32977] Question Description : commerce_commerce_set 1_english_q20
2[Option ID=32978]
3[Option ID=32979]
4[Option ID=32980]

Sl. No.21
QBID:18021

Which one of the following is referent source of power?

1. Perception or belief that the manager has some special knowledge
2. Manager's desire to identify with or imitate the subordinate
3. Ability of the manager to reward the subordinate for obeying orders
4. Ability of the manager to punish the subordinate for not obeying orders
1) 1
2) 2
(3) 3
(4) 4

frafaRad # 9 & fad &1 ggmd Jid g 2

1. 98 U a4 31ydl fayy, fob Y & Uy fa—y JH= g |

2. SR & TIY dIGIed RIMUd DR 34dl SHBI DR H DI Ysitids I DIeT |
3. G & U B SRS Bl YT DR B Ydefdh bl Y |

4. 3SR & SUTEH 7 B & [T SR Bl SIS B B Yadefd ol g |

(1) 1
) 2
(3) 3
(4) 4
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Question Description : commerce_commerce_set 1_english_q21

Sl. No.22
QBID:18022

B R

(1) 1
) 2
3) 3
(4) 4

B R

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=32985]
2[Option ID=32986]

3[Option ID=32987]
4[Option ID=32988]

Which one of the following is not an advantage of the line organization?

. It ensures excellent discipline

. It fixes responsibility for the performance of tasks
. It is suitable for big organizations

. It is not expensive

FafaRad d 9 ©F 91 Ud W@ 97169 &1 gy 981 ¢ 2

UG UG IR BT YARTIRATT |
g B Fq1ed & e IwRaid Had g |
T8 §9 Wil & ey g ¢ |

TG AR TRl G |

Question Description : commerce_commerce_set 1_english_q22

Sl. No.23
QBID:18023

R S R

11
(2) 2
(3) 3
(4) 4

EIGII

A scale that measures a fair sample of the tasks and skills actually needed for the job in question is known as:
. Test validity
. Criterion validity

. Content validity
. Construct validity

Hafid Siid & fau arRda § axae &1l 3R SIRd! & 3rd Afd &1 °14- arell 310+ & (9 3 O fog wu & S

. ORiegur fafemm=aan

O

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32989]
2[Option ID=32990]

3[Option ID=32991]
4[Option ID=32992]

. HHES fafemr=a
favgayg fafeargdan
. AT A=

Question Description : commerce_commerce_set 1_english_q23

Sl. No.24
QBID:18024

. Shadowing
. Tag Teams
. Mirroring

B R R

Training technique which teaches the importance of resolving matters is known as:

. Built-in-Tension
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(1) 1
) 2
(3) 3
(4) 4

HIHd! BT THIUT $I & Ao D1 RI&T & drell UiRIem de-ie &l g A feu su A amroai g 2

1. 3 19
2. Y131 31 (ASE)
3. e
4. Uiy
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32993] Question Description : commerce_commerce_set 1_english_q24

2[Option ID=32994]
3[Option ID=32995]
4[Option ID=32996]

pPrepp
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Sl. No.25
QBID:18025

When Central Bank conducts a sale of securities, the cash reserve of commercial banks shall:

1. Increase at slow rate
2. Decrease
3. Remain constant
4. Increase at fast rate
1) 1
) 2
3) 3
(4) 4

ofd B4 d Tiayfcal &1 et aiferd @dl g, Al difticd Sl @ Fdal RIS -

3 i g g
Sl gl
feR
EESE Ea
1) 1

) 2

3) 3

(4) 4

B R

1[Option ID=32997] Question Description : commerce_commerce_set 1_english_q25
2[Option ID=32998]
3[Option ID=32999]
4[Option ID=33000]

Sl. No.26
QBID:18026

'Average clause' in insurance is applicable for which one of the following cases?

. Double Insurance
. Re-1nsurance

. Over insurance

. Under insurance
(1) 1

(2) 2

3) 3

(4) 4

FrafaRad & 9 &1a1 o by arid o Tas adrel 9 gidig 2

. IGRT ST
O |
. Sifer <t
A

) 1

B R

B R
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(2) 2

3) 3

(4) 4

1[Option ID=33001] Question Description : commerce_commerce_set 1_english_q26
2[Option ID=33002]

3[Option ID=33003]
4[Option ID=33004]

Sl. No.27
QBID:18027

ABC Ventures is private equity investor considering investing 1000 million in the equity of XYZ ltd. ABC Ventures
requires a return of 30% on investment with planned holding period of 5 years. The likely debt of XYZ ltd. will be 21000
million and cash balance of 2300 million with a projected EBITDA of 21500 million for the year 5. The desired ownership
share of ABC Ventures in XYZ ltd., given FVFj 35 5= 3.713, will be

.37.13%
. 30.00%
. 37.90%
. 7.13%
1) 1
(2) 2
(3) 3
(4) 4

ABC J9H U +oll 3féhel Hawiadl g 98 xyz faffes @i 3féel ¥ 1000 Hfe $UT (a2 &3 IR [daR @R @l |
ABC STH DI 5 a4 B IS YIRar @l & Ha=1 iR 30% UidemH (Re) 3 aadhdl g1 Xyz [d. &1 dyifad #or
1000 TATTET 4T GRT 31X 300 FHREE FUT &1 Td¢ SHIRMN g forfH Tigd 99 & fau 1500 fAfem 04U &1 gafid
(SFHTT) TfeesT g

xyz faiff1ds # ABc 3o &1 difsd WA BT AR I1d DL, 56T FVE, 305 = 3.713

= b =

.37.13%
. 30.00%
. 37.90%
.7.13%
1) 1
(2) 2
(3) 3
(4) 4

S O N

1[Option ID=33005] Question Description : commerce_commerce_set 1_english_q27
2[Option ID=33006]
3[Option ID=33007]
4[Option ID=33008]

Sl. No.28
QBID:18028

One of the assumptions in Black-Scholes option pricing model is that underlying asset prices are-

. Equi-distributed

. Marginally distributed

. log-normally distributed
. Normally distributed

1) 1

() 2

3) 3

4) 4

id Wed [ddhed Jodq Hisd &1 U Jd A4l g g (o fdi-igd gauii ed gid ©:-

1. gH-fgdRkd
2. Toa=aa: fadig
3, AN-HHA: fgaied
4. MEFIG: fadikd
1) 1
(2) 2
3) 3
(4) 4

B R

1[Option ID=33009] Question Description : commerce_commerce_set 1_english_q28
2[Option ID=33010]
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3[Option ID=33011]
4[Option ID=33012]

Sl. No.29
QBID:18029

In which one of the following service products, price sensitivity of the customers is low?

1. Car rentals

2. Transport

3. Medical services
4. Retailing

(1) 1

2) 2

3) 3

(4) 4

FafaRad a1 Iare! & ¥ fa Ha1 3d1e gg SuHadrs & ged srdeiiedl == gidl § 2

g
fafee gars
. GR HMR
1 1

(2) 2

(3) 3
(4) 4

B R I

1[Option ID=33013] Question Description : commerce_commerce_set 1_english_q29
2[Option ID=33014]
3[Option ID=33015]
4[Option ID=33016]

Sl. No.30
QBID:18030

Which one of the following is true while segmenting consumer markets on demographic basis?

. Low predictability of consumer choice behaviour and high cost of measurement
. Low predictability of consumer choice behaviour and low cost of measurement

. High predictability of consumer choice behaviour and low cost of measurement
. High predictability of consumer choice behaviour and high cost of measurement

B B

1) 1
) 2
(3) 3
(4) 4

SHITG® T YR UR IUHIEd] diR| & [qUlaaaxul & dae H FgieiRad # &H-91 ol g 2

. Uil 99 HIgR Bi 8 Gaia1-1d1 iR 719 &1 3= drrd
- SUMIEHI T AR B 5 GaiH1-a1 3R 7199 &1 -8 drTd
. SUYIKTT 98- AdER &I Iod YaH1dT 3R 9194 $i -1 AT
. BUHIKTT 991 HIER &1 I=d GaiATIHdT 3R 010 &1 I ArTd

1) 1
(2) 2
(3) 3
(4) 4

N

1[Option ID=33017] Question Description : commerce_commerce_set 1_english_q30
2[Option ID=33018]
3[Option ID=33019]
4[Option ID=33020]

SlI. No.31
QBID:18031

Which one of the following is not a market oriented definition of a business?

. We run a railroad

We help improve office productivity
. We supply energy

. We distribute information

(1) 1

(2) 2

R
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3) 3
(4) 4

FAAfRId o I HH-G1 HRIFR 1 R ST GRS g1 ¢ 2

1. 1 U Yaucd] &l Ui dRd g |

2. TH ST JcdTehdl & YUR H YgAdI Hid 3 |
3. U ol Bl I B E |

4. TAYE $I [ARU B ¢ |

1) 1

) 2

(3) 3

(4) 4

1[Option ID=33021] Question Description : commerce_commerce_set 1_english_q31
2[Option ID=33022]

3[Option ID=33023]

4[Option ID=33024]

Sl. No.32

QBID:18032

In which one of the following concepts, a buyer is passively involved in an exchange transaction and he accepts whatever is
offered to him by a marketer?

. Production concept
. Product concept

. Selling concept

. Marketing concept
1) 1

(2) 2

(3) 3

(4) 4

FafeiRad ddbeqra § 9 {6y, YbheUA1 H, Uh ohdl - Mithy U I fafwy degagR # gl gidl g 3R IR # 39
il $& UdTidd BT S1d1 8, 98 WIDR DRl § 2

B

1. AT B SGYRUT
2. 3G I 3GYUROT
3, fahg &l sigyrRon
4. f4UUH &1 3[@yROT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33025] Question Description : commerce_commerce_set 1_english_q32
2[Option ID=33026]

3[Option ID=33027]
4[Option ID=33028]

Sl. No.33
QBID:18033

If invoice discounting is not confidential in nature, the custom ers of the client are advised to make payment directly to the
factor. This facility, when offered with a non-recourse, is known as-

. Agency Factoring

. Protected invoice discounting
. Full factoring

. 0dd line factoring

N

1) 1
) 2
(3) 3
(4) 4
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e dioidb-dagT, MU Udpld &1 el gidi g df Yaredf & Urgd! &l hdex &l WiEdR Yar 63 &1 dlg 4l Akl 81 I8
gfaeT Sid TR-TYT fa=ivar & 9y < S g dl 39 S 1l 6:

1. OOl Thae i

2. WRIEA dvi®

3. g T i

4. fawA T Baedin

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33029] Question Description : commerce_commerce_set 1_english_q33
2[Option ID=33030]

3[Option ID=33031]
4[Option ID=33032]

Sl. No.34
QBID:18034

The practice of forging a return address on an e-mail so that the recipient is fooled into revealing private information is
termed as:

. Hacking

. Cracking

. Dumpstordiving
. Spoofing

S

(1) 1
(2) 2
(3) 3
(4) 4

éﬂﬁﬁﬁgﬁmwﬁw D [0l Y1 B Udhe B od Udddl B dedTdl oidl ¢, 39 B HIER DI
SR g :

BT/ 8 Bl
SIS
T AT

1) 1

(2) 2

(3) 3

(4) 4

S

1[Option ID=33033] Question Description : commerce_commerce_set 1_english_q34
2[Option ID=33034]
3[Option ID=33035]
4[Option ID=33036]

Sl. No.35
QBID:18035

If any one fraudulently or dishonestly makes use of the electronic signature, password or any other unique identification
feature of any other person then under which section of IT Act 2000, punishment shall be given?

. Section 63

. Section 66B
. Section 66C
. Section 67B
1) 1

) 2

(3) 3

(4) 4

gie DI Sddcli—d SWIER - Uds 41 fddl gOR Afdd o1 Ugd sl Sud fa=Ivdl &1 Taiv SR SIIerdrsil ddl
© Ol S YA Ui e 2000 BT 1Y ¢RI & SAdiid gied fdhar smem 2

.YURT63

U166 B
CURT66 C
.URT67 B

B A

S e
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1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33037] Question Description : commerce_commerce_set 1_english_q35
2[Option ID=33038]

3[Option ID=33039]
4[Option ID=33040]

Sl. No.36
QBID:18036

From Dec. 1. 2022 which body handles all complaints related to Profiteering under Goods and Services Tax (GST) ?

. National Anti-Profiteering Authority (NAA)
. Niti-Aayog

. Competition Commission of India (CCT)

. GST Council

1) 1

(2) 2

(3) 3

(4) 4

Fafeiad o &H-91 e/’ Ud [GaraR 2022 Y ATd (G%) 3R Y1 (SIegel) & aid ey J Jaied gall
RGB! BT YR HRA1E 2

TS Ufd-3gery= Uifeehor (U4U0)
Hifa ma
YR ufaegst s (@ ifeng)

. Slegdt uivee

1) 1
(2) 2
3) 3
(4) 4

B R B

S

1[Option ID=33041] Question Description : commerce_commerce_set 1_english_q36
2[Option ID=33042]
3[Option ID=33043]
4[Option ID=33044]

Sl. No.37
QBID:18037

Section 80 GGC of Income Tax Act is related with which one of the following ?

. Deduction in respect of contribution given by any company to political parties
. Deduction in respect of contribution given by any person to political parties

. Deduction in respect of rent paid

. Deduction in respect of certain donation for scientific research

O

1) 1
(2) 2
(3) 3
(4) 4

TR AfUFTH BT YRT s0GGe FT NN Y H G TR T8 2

ST &all o il Hrul gRT U U g & deH # deldl
e <l i bl eafdd gRT AU Y 5 & daH H deldh
BT & YiraH & ey d Herdt

. 3D 3FHYM o folu fGU Y fdhafl o & deH § weidl

(1) 1
) 2
(3) 3
(4) 4

S e

1[Option ID=33045] Question Description : commerce_commerce_set 1_english_q37
2[Option ID=33046]
3[Option ID=33047]
4[Option ID=33048]

Sl. No.38
QBID:18038
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Which one of the following is not correct for Tonnage Tax System?

. It is a scheme of presumptive taxation

. It is applicable for the taxation of income derived from shipping activities
. It is applicable for both Indian as well as foreign companies

. Computation of tonnage income is covered U/S 115 VG

B B

11
(2) 2
(3) 3
(4) 4

YR Y AT & [Tt [Hafaiad # U 1991 e 9 Hel © 2

. Ug Udh Uehbfeld BRI Pl Ao g |

. gg AIuiag- niafafedl 9 urd 3y W ey & fu ggad ¢ |
g YR 3R fa¢=i, S 8, g W UgR ¢ |
TA-HR A DIUATU/S 115 VG & 3=lId S Sl © |

(1) 1
) 2
(3) 3
(4) 4

B S S I

1[Option ID=33049] Question Description : commerce_commerce_set 1_english_q38
2[Option ID=33050]
3[Option ID=33051]
4[Option ID=33052]

pPrepp
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Sl. No.39
QBID:18039

Tax on declared dividend is paid by whom?

. Shareholders

. Manager

. Receiver of the dividend
. Company

B R R

(1) 1
) 2
(3) 3
(4) 4

T TR TR R BT YT HIH HRAT ¢ 2
RRURD

1
2. Ud¥dh
3. ATHIRT &1 YT d
4. B!
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=33053] Question Description : commerce_commerce_set 1_english_q39

2[Option ID=33054]
3[Option ID=33055]
4[Option ID=33056]

Sl. No.40
QBID:18040

Which one of the following is not related to Income Tax in India?

. Taxpayer Identification Number (TIN)

. Dearness Allowance (DA)

. Leave Travel Allowance (L.T.A)

. Tax Deduction and Collection Account Number (TAN)

B R

(1) 1
(2) 2
(3) 3
4) 4
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fgfciRad H U ®IH U YR H SR Y GH&4d ol ¢ 2

1. R UeIdl 9gd YT (TIN)
2. HGTS Udl (D.A.)
3. AIDIR-GET HAT (L. T.A)
4. B deldl AR YUGUI GIdl T2 (TAN)
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=33057] Question Description : commerce_commerce_set 1_english_q40
2[Option ID=33058]
3[Option ID=33059]
4[Option ID=33060]

pPrepp
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Sl. No.41
QBID:18041
2

After COVID-19, which of the following are the upskilling enablers for women in India?

A Introduction of electric vehicles

B. Flexible work opportunities

C. Work from home

D. Need to stay relevant, especially in technology
E. Willingness to return to work.

Choose the most appropriate answer from the options given below:

1. Aand B only

. C and D only
.C.D and E only
.B, C.D and E only
(1) 1

(2) 2

(3) 3

(4) 4

BIfdS-19 & dIg YRd H Aigarsl & feu FHfaRad ¥ U -4 $Id I90-/4Ha8- ddd ¢ 2

A. fasgd arg=l &1 udw

B. @[ & ARl H didd-

C. R Y B BT

D. URN®T & &7 H [GRANa UrRTE T & add]
E. & & U aradl 381

i fau T fadedl H U Ugl 3R &I 98- BifoTy -

|.$ITA&B
2. HBAAC & D
3. $HddC.D, & E
4. $ddB,C,D&E
1) 1
() 2
(3) 3
(4) 4

[N )

iy

1[Option ID=33061] Question Description : commerce_commerce_set 1_english_q41
2[Option ID=33062]
3[Option ID=33063]
4[Option ID=33064]

Sl. No.42
QBID:18042
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E-commerce and large retailers in India bet big on mega consumption events on which of the following days?

A. Republic Day

B. Independence Day
C. Black Friday

D. Cyber Monday

E. Akshya Tritiya

Choose the most appropriate answer from the options given below:

. Aand B only

. C and D only

. A, BandE only
A,B,C,Dand E
1 1

(2) 2

3) 3

4) 4

HRA | FHfciRad ¥ - Tg1 SUHIadT &R a1 faadl H S-S 3R Ge3l IR &I U D JHTER U1t gial g 2

A TUIdH faayg
B. WAl fgay
C. DI YBHaR
D. UEsR 4s
E. 31& Jelian

1 fau U fasmed! ¥ 9 Uel 3R &1 99+ Diforu -

1. $IT A, &B
2. Had C, & D
3. HIAA,B&E
4. $AdAB.C.D&E
(1) 1
(2) 2
3) 3
(4) 4

B O R

1[Option ID=33065] Question Description : commerce_commerce_set 1_english_q42
2[Option ID=33066]
3[Option ID=33067]
4[Option ID=33068]

Sl. No.43
QBID:18043

Which of the following are not assumptions of Marginal Costing?

A The total cost can be segregated into fixed and variable components.
B. Fixed costs per unit of production remains constant

C. Variable cost remains constant per unit of output

D. The selling price per unit remains unchanged.

E. Variable cost is variable per unit.

Choose the correct answer from the options given below:

. Aand B only
.B and E only
.Cand D only
.Band C only
(1) 1
(2) 2
(3) 3
4) 4

B N
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frafaRad § € o i ard FuRo &) [duRom T8 R |

A. S dNTd DI (99d AT IR gRadf arrd § dfer S 9ahar g |
B. 3G B1 Uld 3HTs +ad dFTd FRRR Gl g |

C. 3dME $I Ufd ZhTs URddl arTd RR | B |

D. Ufd 2b1s fashd g 3URafdd |1 e |

E. Uid Sab1s YRl arTd yRadf gl g |

A1 8T U f[ddhet! H T Ug! SR &1 98- I :

1. $ITA&B
2. HIAB & E
3. HAAC & D
4. HAAB & C

1

(2) 2

(3) 3

(4) 4

1[Option ID=33069] Question Description : commerce_commerce_set 1_english_q43
2[Option ID=33070]
3[Option ID=33071]
4[Option ID=33072]

pPrepp

Your Personal Exams Guide

Sl. No.44
QBID:18044

Which of the following transactions are related to Financing Activities?

A. Share issued for cash

B. Dividend distributed to shareholders
C. Sale of machinery

D. Redemption of debentures

E. Provision for depreciation.

Choose the correct answer from the options given below:

. Aand E only
.Aand C only

. A, B and D only

. A, B, Cand D only
(1) 1

(2) 2

3) 3

4) 4

fafaad & 9§ o ¥ YoudgR fa<ia nfafafea & @efaa g -

A. PG & U IR P 1A
B. TRYRSD| &l ATHIRI PI [darul
c. AR & 9t

p. IR T ARA

E. Je4-319 &1 UIge™

i fau U faseu! § O Ul 3k &1 99+ Difor :

1. $ITA&B
2. HATA&C
3. HITAB&D
4. $Ad A, B.C &D
1 1
(2) 2
@) 3
(4) 4

B O B

1[Option ID=33073] Question Description : commerce_commerce_set 1_english_q44
2[Option ID=33074]
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3[Option ID=33075]
4[Option ID=33076]

Sl. No.45
QBID:18045

Which of the following statements are correct?

A. A moneopolist can charge any price to maximize profits.

B. The slope of monopoly's MR curve is twice that of AR curve.

C. A necessary condition for monopoly's long-run equilibrium is AC = AR=MC=MR
D. A monopolist is in equilibrium where MC=MR

E. Equilibrium price of a monopolist is always higher than that of a competitive firm.

Choose the correct answer from the options given below:

. A, Band C only
.B. C and D only
.B. D and E only
.C,D and E only
(1) 1
(2) 2
3) 3
(4) 4

FUfRed A U ®H Y YT Tol g 2

A. THIYDRI A1 DI YHdH DA & [T Bis Ul ST 99 Gl |

B. USTUPHR] &b MR dsb BT YUl AR dch b UGU[ F GRFI BII & |

C. THIUBRI & Safafe Hded &I Udb 3HIRGD AUd § AC=AR=MC=MR

D. THIYDHRI e H gIal ¢ 1d MC = MR B |

E. UHIUBR] &1 Yo DIad ga=n g1 uiaegsf v & SiHd ¥ #1fUd gidi g |

i feu U fasmedl 4 O Uel 3wk &1 99+ DifoTu -

1. $Id A, B, C,
2. $4d B, C, D
3. HddB. D, E
4. ®H9AC, D, E

1) 1

(2) 2

3) 3

(4) 4

B O R

1[Option ID=33077] Question Description : commerce_commerce_set 1_english_q45
2[Option ID=33078]
3[Option ID=33079]
4[Option ID=33080]

Sl. No.46
QBID:18046

Which of the following factors hinder the formation and sustainability of Cartels ?

A. Less number of firms in the industry

B. Presence of differentiated products

C. Different cost structures

D. Low frequency sales coupled with huge amounts of output.
E. Absence of monopolies and restrictive trade practices.

Choose the most appropriate answer from the options given below:

.B. C and D only
. A, D andE only
.C.D and E only
.B. C and E only
(1) 1
(2) 2
3) 3
(4) 4

B O R
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JdGH i & G 3R 3D 4RI B (99 H Y ®H Y SRS dll4d Hd g ?

A, S H BH DI HH AT

B. faufea Il &1 sufeufa

c. TUF drTd ST

D. a1 =1 91 & 91 fael &1 9 Saia

E. TH USRI 3R Uidded AUiRe HagR] & suifd

i f&U 7Y f[ddhed! H T Ug! SR &1 98- Blifold -

1.$dd B, C R D
2. HIAd A, D 3IRE
3. $had C, D, AR E
4. $ad B, C AR E

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33081] Question Description : commerce_commerce_set 1_english_q46
2[Option ID=33082]

3[Option ID=33083]
4[Option ID=33084]

Sl. No.47
QBID:18047

Which of the following factors determine the requirements of working capital of a firm?

A. Nature of Business

B. Technology and Manufacturing Policy
C. Management Skills

D. Credit Policy

E. Market and Demand Conditions.

Choose the correct answer from the options given below:

. A, B, CandD only
.A,B, D, and E only
.C.D and E only

. A, B and E only

1) 1

(2) 2

3) 3

(4) 4

{4l wH &1 HRiRiid Usil BT a3 & 99 1 U SH 9 SRE [HefiRd Hxd g 2

A. DRIIR &I UPfd

B. Ui 37K fafaior Hifq
C. YYD HId

D. B0 Hifd

E. TSR 3R HivT [yferi

i fGU U f[qdhed! H T Ug! TR &1 98- HIfol :

1. $adA.B,C.D
2. HAdA.B.D. E
3. HAd C. D, E
4. HAA A, B.E

) 1

() 2

(3) 3

4) 4

B O R

1[Option ID=33085] Question Description : commerce_commerce_set 1_english_q47
2[Option ID=33086]
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Sl. No.48
QBID:18048

Which of the following are related to primary capital market ?

A.TPO

B. Long Term Loans

C. Venture Capital

D. Letters of Credit

E. Participation Certificates

Choose the most appropriate answer from the options given below:

. A, B and E only
.C.D and E only
. A Band C only
. A, DandE only
(1) 1
(2) 2
(3) 3
(4) 4

Fafeiad o 4 $H-6H WUhE goll aeR ¥ a6fdd g 2

A, 3ISYI3I

B. draiafy H0I

C. 39H Yol

D. U4 U

E. YeYIiTdr gHmomg"

i feu U fasmedl 4 O Uel 3wk &1 99+ DifoTu -

|.$ITA.B.E
2. HAd C. D, E
3. HAd A, B, C
4. BT A.D.E

1) 1

(2) 2

3) 3

(4) 4

B O R

1[Option ID=33089] Question Description : commerce_commerce_set 1_english_q48
2[Option ID=33090]
3[Option ID=33091]
4[Option ID=33092]

Sl. No.49
QBID:18049

Which among the following are the measures of Central Tendency or Measures of Location?

A. Mean

B. Range
C. Mode
D. Median
E. Variance

Choose the most appropriate answer from the options given below:

A, B, Cand E only
.C.D and E only

. A, Cand D only
.B. C and D only
(1) 1

(2) 2

3) 3

4) 4

B B
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fafcRad § 9 o b ugfal &1 419 a1 saffd S am g 2

A HIY]
B. UdR
C. 9gAD
D. HIfHT
E. fquRur

i f&U 7Y f[ddhed! H T Ug! SR &1 98- Blifold -

1. $dd A, B, C. E
2. HAAC. D, E
3. Bdd A, C,D
4. ®ddB, C,D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33093] Question Description : commerce_commerce_set 1_english_q49
2[Option ID=33094]

3[Option ID=33095]
4[Option ID=33096]

prepp
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Sl. No.50
QBID:18050

In which of the following practical situations, Poisson Distribution can be used?

. Number of customers arriving at the super markets per hour.

. Number of typographical errors per page in a typed material

. Number of accidents taking place per day on a busy road.

. Dice throwing problems.

. Number of defective material say, blades, etc. in a packing manufactured by a good concern.

Mo nw e

Choose the most appropriate answer from the options given below:

B. D and E only

B, C and E only
", D and E only
, Cand D only

o]

1

2.A,
A
4. A,
1) 1
(2) 2
(3) 3

(4) 4

FfaRad # U -1 g [yfaal § uigy= f9dRur &1 Uai fdar S 9adi g 2

A. g A1ide ¥ ufd € 31 darel g &l I

B. 213U i © Ufd gy ggu I3l &t e

C. U I Hgd TR Ufdfc gfed geedsl &1 ga

D. URY a1 Y= gHsmd

E. Tt 3= HId SAG® 3dhls gRI [aHTHd Ul H (o1 &1, 1) argol wrgd &1 wem

1 fGU U fddhed! H T Ug! TR &1 98- BHIfol :

1. $dd B, D.E
2. HAdA.B.C.E
3. Hdd A, C, D, E
4. HAA A, B,C. D

) 1

() 2

(3) 3

4) 4

1[Option ID=33097] Question Description : commerce_commerce_set 1_english_q50
2[Option ID=33098]
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3[Option ID=33099]
4[Option ID=33100]
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Sl. No.51
QBID:18051

Which of the following attributes are true in systems approach to performance appraisal?

A. Low degree of formality

B. Occasional appraisal frequency

C. Individual-oriented reward practices
D. Facilitative leadership practices

E. Problem solving as primary goal.

Choose the most appropriate answer from the options given below:

. A, D and E only

. A, Band D only
.B. C and E only

. A, C,Dand E only
(1) 1

(2) 2

3) 3

(4) 4

frsaTe Yedich o Ha=I IUrTH | Fgfafad I 9S-S9 3 U8l 1ui g 2

A. TEIRGA B -9 Dife

B. Jql-®ql HedIdh dRER
C. Afad-3dl GRIHR AdgR
D. P g dPRI HAGR

E. YUX1 GHIYH UIUAS deg

i feu U fasmedl 4 O Uel 3wk &1 99+ DifoTu -

|.$ITA.D. E
2. $Ad A, B.D
3. HddB, C.E
4. $ATA,C,D.E

1) 1

(2) 2

3) 3

(4) 4

B O R

1[Option ID=33101] Question Description : commerce_commerce_set 1_english_q51
2[Option ID=33102]
3[Option ID=33103]
4[Option ID=33104]

Sl. No.52
QBID:18052

Which of the following are the distinct features of the Principles of Management?

A. Flexibility

B. Universal application

C. Principles are absolute, not relative
D. Based on situation

E. Derived out of experience.

Choose the correct answer from the options given below:

. A, Cand E only

. A, B and D only
.B, C,D and E only
.A,B. D and E only
(1) 1

(2) 2

3) 3

4) 4

B O R
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FafaRad § 9 SH-HH U Uaed & [Gidl & g5 a0 g 2

A, I

B. Gifdd U

C. grgefdr g, FRuerdr Rigid
D. fIfq aneia

E. 344 4 HaH
A1 3T 7Y [ddhed! H T Ug! STk &1 98- Bifold -

1. $Id A, C,E
2. HAA A, B, D
3. $%dd B, C, D, E
4. A A.B,D.E

) 1

(2) 2

(3) 3

4) 4

2[Option ID=33106]
3[Option ID=33107]
4[Option ID=33108]

1[Option ID=33105] Question Description : commerce_commerce_set 1_english_q52

pPrepp

Your Personal Exams Guide

Sl. No.53
QBID:18053

A. Discipline

B. Decentralization

C. Unity of Command
D. Equity

E. Instability of Tenure

Choose the correct answer from the options given below :

1.A, C.,Donly
2.A.B,C,E only
3.A.B.Donly
4.B, C, E only

1) 1

) 2

3) 3

(4) 4

A. SRINH
B. fadf<arur

C. BHME DI Udhdl

D. THdI

E. S &I ARRRA

I 16U U faihedi | O Uol 3R &l 994 DU :

1.HAddA A, C,D
2. HAdA.B.C.E
3, HAd A, B, D
4. HAAB, C, E

@) 1

() 2

(3) 3

4) 4

2[Option ID=33110]

According to Henri Fayol, which of the following are the Principles of Management?

1[Option ID=33109] Question Description : commerce_commerce_set 1_english_q53
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3[Option ID=33111]
4[Option ID=33112]
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Sl. No.54
QBID:18054

Which of the following are the functions of Reserve Bank of India?

A Issue of Currency

B. Accepting Deposits

C. Banker of Government
D. Bankers Bank

E. Credit Control.

Choose the correct answer from the options given below:

.Band C only

. Aand D only

. A, B, Cand D only
. A, C,D, and E only
(1) 1

(2) 2

3) 3

4) 4

HRGg Reid d & FafRed A 4 e dyad ¢ 2

A. T SR ST
B. ST WIHR HIAT
C. WBR BT dHT
D. d&R| &l dh

E. UG 8307

i feu U fasmedl 4 O Uel 3wk &1 99+ DifoTu -

1. HIdB. C
2. HAd A, D
3. HAd A, B, C.D
4. $ATA,C,D.E
1) 1
(2) 2
3) 3
(4) 4

B O R

1[Option ID=33113] Question Description : commerce_commerce_set 1_english_q54
2[Option ID=33114]
3[Option ID=33115]
4[Option ID=33116]

Sl. No.55
QBID:18055

Requirement?

A, Credit Risk

B. Financial risk

C. Operation Risk
D. Market Risk

E. Reputational Risk

Choose the correct answer from the options given below:

. A, Band C only
. A, B and D only
.B. C and D only
. A, Cand D only
(1) 1
(2) 2
(3) 3
4) 4

N R

For ongoing maintenance of regulatory capital, which of the following risks were covered by Pillar-1 Minimum Capital
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mwﬁw SRET & o1l WU T g Yol Sfia2gahdl & gR1 -4 | S Il SiRkgdl & gwferd

A. IRa SifgH

B. fa<iig wiifaw

C. UTaH SliRaH
D. 919IR SIfEH

E. UANTE® Sikaq

i feu U faded! | T el IR &1 I8 Hiforu :

1. ®Hdd A, B, C
2. $hdd A, B, D
3. $H4dd B, C. D
4. $Ad A, C, D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33117] Question Description : commerce_commerce_set 1_english_q55
2[Option ID=33118]

3[Option ID=33119]
4[Option ID=33120]

Sl. No.56
QBID:18056

Which of the following are the advantages of Mobile Banking?

A. Insecure

B. Fraud reduction

C. Time saving

D. Separate internet required
E. Increased efficiency.

Choose the most appropriate answer from the options given below:

.B, C and E only
. A, B and D only
.C.D and E only
.B. D and E only
1) 1
(2) 2
3) 3
(4) 4

Aiargd dfdb & Faffea A g eI av g 2

A, FRIET

B. HUC (1) H B

C. G1Y Df ddd

D. 3T Y 3 B Gl

E. &-$9aar § gfa
1 fau U faset! § 9 Uel 3k &1 99+ DIforu :

. $AdB. C.E
2. $%dd A. B, D
3. HAdC. D, E
4. $Ad B, D, E

1) 1
(2) 2
(3) 3
(4) 4

B O R
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1[Option ID=33121] Question Description : commerce_commerce_set 1_english_q56
2[Option ID=33122]
3[Option ID=33123]
4[Option ID=33124]

Sl. No.57
QBID:18057

Which of the following are to be determined to estimate current market demand?

A. Total Market potential
B. Area Market potential
C. Analyze past sales

D. Sales force's input

E. Market share

Choose the most appropriate answer from the options given below:

. A, Cand E only
.B. D and E only
. A, Cand D only
. A, BandE only
(1) 1
(2 2
3) 3
(4) 4

A ISR 1T & YaigaH & ford Fafaiad 1 9 fe-e! iR g smarg 2

A. STSIR &I Dol &

B. &7 & dIoIR B &HdI
C. d faeh! o1 fazeyur
D. 9T 9 &I STHBRI
E. d9R fg=r

i fau U fasmeul § 9 Ul 3wk &1 99+ Difor :

1. $ad A, C. E
2. HITA.D.E
3. HAAA.C,D
4. $Ad A, B. E

1) 1
(2) 2
3) 3
(4) 4

B R

1[Option ID=33125] Question Description : commerce_commerce_set 1_english_q57
2[Option ID=33126]
3[Option ID=33127]
4[Option ID=33128]

Sl. No.58
QBID:18058

Which of the following are social factors influencing consumer's behaviour?

A. Culture

B. Social class

C. Groups

D. Family

E. Roles and status

Choose the most appropriate answer from the options given below:

1. A, D and E only
2.B.C,Dand E only
3.C.D and E only
4. B and C only

1) 1

(2) 2

(3) 3
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(4) 4

fAgfeiRad H U ®H-4 IUHId & AdgR &I UHIad bR dicd GHISd SRS g 2

A T%Pld

B. YIS &
C. U g

D. URAR

E. YT 3R fyfd

A fau U fasmeul § 9 Ul 3wk &1 99+ Difor :

1. $dd A, D, E
2. $ad B, C, D, E
3. $Hadd C, D, E
4. $ad B, C

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=33129] Question Description : commerce_commerce_set 1_english_q58
2[Option ID=33130]
3[Option ID=33131]
4[Option ID=33132]

prepp

Your Personal Exams Guide

Sl. No.59
QBID:18059

Which of the following are true when an organization uses intensive distribution of its products?

A. Customers are moderate in number
B. Widespread market coverage

C. Customers are brand-conscious

D. Mass advertising

E. Pleasant shopping conditions.

Choose the most appropriate answer from the options given below:

1. B, D and E only
2. A.BandC only
3.Band D only
4. B, C and D ounly
1) 1
(2) 2
(3) 3
(4) 4

SId Y3 30 IdIG! BT g [daR Ul &I IUIRT Bl 8, dl HafaRad # 4 HH-9 9gi g 2

A. SUHIEAI3] BT YHRT WA G |

B. AU =0 U FWIR H 3316 |
C. SUHIET 518 & Ufd IS Bld © |
D. Ud 93104

E. gWq fAUuur g=my

i 3T U [9dhed! H T Ug! SR &1 98- BIfofd :

1. $9d B, D, E
2. HAAA, B, C
3. HAd B. D
4. ®ddB,C,D

(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=33133] Question Description : commerce_commerce_set 1_english_q59
2[Option ID=33134]
3[Option ID=33135]
4[Option ID=33136]

Sl. No.60
QBID:18060

As per RTI Act, 2005, which of the following are exempted from disclosure [U/S 8(1)] ?

A. Information, the disclosure of which cause a breach of privilege of Parliament or the State Legislature.

B. The monthly remuneration received by employee

C. Information received in confidence from foreign government

D. Information which relates to personal information the disclosure of which has no relationship to any public activity or

interest.
E. A statement of the categories of documents that are held by public authority or under its control.

Choose the correct answer from the options given below:

. A, BandE only
. A, Cand D only
.C.D and E only
.B. C and D only
(1) 1
(2) 2
(3) 3
(4) 4

Y1 b1 HADR AT, 2005 & IR, FAERIT T fhd] U Ihul [u/s 8(1)] Y FC U T 2

A. Y YT T UHSTH0 foTe TS A1 I f94H Hed & RIS R HI g 8ial g |

B. HHAR] gRT Ut H1i¥ydh UiRyiid

C. fac=il R U fayra § ured =1

D. 98 Y1 Sl i1 Yol ¥ Haifdd g 31R ¥ Wb IR0l ¥ didh/o- B 4l fgd Bl dis Hede 181 8 |
E. 3 Ycial &1 4101 &1 Y Sl idoli-d UMD & U 81 a1 34 e gl |

i fau U faseul § O Ul 3R &1 99+ Difofu ;

1. HAA A, B. & C
2. HIAA, C&D
3. $HdAC, D, &E
4. $dd B, C & D

(1) 1
) 2
3) 3
(4) 4

R S N

1[Option ID=33137] Question Description : commerce_commerce_set 1_english_q60
2[Option ID=33138]
3[Option ID=33139]
4[Option ID=33140]

Sl. No.61
QBID:18061

An instrument is to be called Wegotiable' as per Negotiable Instruments Act, 1881, if it possesses which of the following
characteristics ?

A. Can be transferred infinitum

B. Having minimum lock-in period

C. Freely transferable

D. The holder cannot sue in his own name
E. Holder's title free from defects.

Choose the correct answer from the options given below:

1. A, C and E only
2. A, BandE only
3.B.D and E only
4. A, B, C and E only
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) 2
3) 3
(4) 4

TR Weid S{ETTH, 1881 B TR Bls ok ad I T ST e 98 HHiciad DI [a=yarsi aren g 2

A. IR 3FpHeH) ¥0 J HARRG 8l Iadi © |
B. GdH GREYT 2qfy

C. gl UHR Y gxIiaruiig

D. YR 3T A I FIC ol gl Yl |

E. YR Bl gheRI I YR gl 3 |

i fau U fasmeul ¥ 9 Uel 3wk &1 99+ Diforu :

1. $hdd A, C, 3R E
2. $hdd A, B, AR E
3. $%ddB,DIARE
4.%dd A, B,C AR E

11
) 2
(3) 3
(4) 4

1[Option ID=33141] Question Description : commerce_commerce_set 1_english_q61
2[Option ID=33142]
3[Option ID=33143]
4[Option ID=33144]

Sl. No.62
QBID:18062

Intellectual Capital of an enterprise includes its :

A. Processes

B. Designs

C. Relationships developed with its customers and suppliers
D. Internet domain names

E. Copyrights

Choose the correct answer from the options given below:

. A, B, Cand D only
.B. C and E only
.C.D and E only
A, B,C,Dand E

1) 1
(2) 2
(3) 3
(4) 4

fopdl Ie & difgd Uil | e § 39 :

A, Ufdbar

B. A(UHcd

C. AT 3R Yfddbdiai & T fahid e
D. 3 - SET A1

E. BIURIEC

A1 3T 7Y [ddhed! H T Ug! STk &1 98- Bifold -

1. $9d A, B, C 3R D
2. $Had B, C 3R E
3. $hdd C,D ARE
4. HAAA.B,C.D3ARE
1) 1
() 2
3) 3

B R
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(4) 4

1[Option ID=33145] Question Description : commerce_commerce_set 1_english_q62
2[Option ID=33146]

3[Option ID=33147]

4[Option ID=33148]

Sl. No.63

QBID:18063

Income received and accrued or arisen outside India from a business controlled in or a profession set up in India, is taxed in
the hands of which of the following ?

A. Every citizen of India

B. Domicile of India

C. Ordinary Resident

D. Non-Ordinarily Resident
E. Non-Resident

Choose the correct answer from the options given below:

. Aand C only
. Aand B only
. C and D only
.C.D and E only

1) 1
(2) 2

3) 3

4) 4

YR T 110 fhd 02 a1 YRd H (HAd (6l PRIGR gRT YR & 916 U &1 T3 3R {fSld a1 3ad &1 Ts 3,
fafaRad 5 fdyds fefu & arm g -

A. YRd & Ud® ANIRS & U
B. HRd & Haril & feiu

C. TTERU fHardt & forg

D. YR - fHard & fau

E. fHard & fau

A1 3T U [qdhet! H T Ug! SR &1 98- Bl -

. HAdA&C
2. HIAA&B
3. HAAC & D
4. HAAC,D&E

1 1

@) 2

(3) 3

4) 4

R N

1[Option ID=33149] Question Description : commerce_commerce_set 1_english_q63
2[Option ID=33150]
3[Option ID=33151]
4[Option ID=33152]

Sl. No.64
QBID:18064

‘Which of the following are related to tax-evasion?

A. Claiming bogus expenses and losses
B. Hiding capital nature of profits

C. Showing sales transactions

D. Showing excess transactions

E. Showing real income and expenses.

Choose the correct answer from the options given below:

—_

. Aand B only
. A, B and D only
. A, Band C only
.C and E only

EN PR
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(1) 1
) 2
(3) 3
(4) 4

FfaRad # U fous T ar-ar’l U g 2

A SITelt @l 3R 1! &1 arar &l
B. ol Upfcl & Al &1 gur

c. foe! YaadgR fear

D. 3R YUl YoHagR fe@MI

E. IRKdIfdd 310 3R oY fe@mr

- feu TTU fomet! § 9 Ul 3R &1 994 Difort -

|. PATA&B
2. HddA.B &D
3. BAAA B & C
4. $AAC&KE

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=33153] Question Description : commerce_commerce_set 1_english_q64
2[Option ID=33154]

3[Option ID=33155]
4[Option ID=33156]

Sl. No.65
QBID:18065

Which of the following conditions should be fulfilled by an Assessee to avail deduction u/s. 91 of Income Tax Act. 19617

A. The Assessee is a tax resident in India during the relevant previous year

B. The income accrues or arises to himv/her outside India

C. There is an agresment for relief from double taxation between India and the other country when the income has accrued
or arisen.

D. The Assessee has paid tax on his/her foreign income in the foreign country

E. India does not have any agreement for relief from double taxation with the country.

Choose the most appropriate answer from the options given below:

. Aand E only
.Band C only

. A, B, D and E only
. A, Band E only
(1) 1

(2) 2

3) 3

4) 4

SR HTIH 1961 BT URT91 & dgd Fe UM o (o [l - FeiRd @ Fafdiad o 9 oH- =rd i3 S0 gl

[ e

A Gl 71d - I8 H BRI URd H U R - (A @13 |

B. 3D 31T URA & dlgR 3ffoid 41 364 g5 o |

c. Torg S 3y 31fSid 1 3T g3 6. 39 &2 3R YR & did Qlg: B U G G Bl e g gl |
D. BRI 7 3ot A= # g5 o W fae= 8§ €1 &= &1 YidH & AT gl |

E. HRd &1 3 S Y Glg HUYH UG ad DI dls SHTH T80 © |

i fGU U fqdhed! H T Ug! TR &1 98- ol :

|. PATA&E
2. HIAB & C

3. $dd A, B,D&E
4. HATA.B & E
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(1) 1
() 2
(3) 3
(4) 4

1[Option ID=33157]
2[Option ID=33158]
3[Option ID=33159]
4[Option ID=33160]

Question Description : commerce_commerce_set 1_english_q65

prepp
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Sl. No.66
QBID:18066

Match List I with List IT

LISTI LISTII
(COP27) (COP 27 Action Plan)
A Mitigation I.  |Promote climate know-how solutions
B. |Capitalize II. |[Empowering all stakeholders to engage in climate action
C. |Technology IT1T. [Phase down unabated coal power
D. |Capacity Building IV. |Creation of "loss and damage fund"”

(1) 1
) 2
(3) 3
(4) 4

1. A-II. B-III, C-IV, D-1
2. A-IV, B-III, C-II, D-1
3. AL B-1V, C-I, D-II
4. A-IV, B-III, C-I, D-1I

Choose the correct answer from the options given below:

el 1 1 i 1 Y A iy

I I
ﬁg‘gﬁn %ﬁaﬁﬁrgmu‘lw
NIEGER 1 | Sicar ae qaieE @1 gerdl ol
] Searg gadi & H gl RaeRe! &1 Yo & gd, Sl
B. |qsipd &1 I e B3
C. | U] 111 | 31&{00] BT Gl B IROEG &4 1 $H BT
D. |gmarFEm |1V | 814 3R aifd Al & ®=mo=r &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=33161]
2[Option ID=33162]
3[Option ID=33163]
4[Option ID=33164]

1. A-II. B-IIL. C-IV, D-1
2. A-IV, B-II, C-II, D-1
3. A-IIL B-1IV, C-1. D-1I
4. A-IV, B-III, C-I, D-II

fAgfeRad [d@edl ¥ U gl SR &1 994 Bifel -

Question Description : commerce_commerce_set 1_english_q66

Sl. No.67
QBID:18067
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Match List I with List IT

LISTI LISTII
(Issue) (Description)
| bl I As§ers__ Liabilities and Equity balances exist at the end of the
period.
B. | Classification II. | Transactions and events have been recorded in proper accounts
& | sirnss o ;:’r};:’éher all assets and hiabilities are reported in the appropriate

D. | Existence

V.

Transactions recognized in the financial statements have
occurred and relate to the entity.

Choose the correct answer from the options given below:

. A-IV, B-IIL C

T R O R

1)1
(2) 2
(3) 3
(4) 4

. A-IL, B-L. C-IIL D-IV
-I1, D-1
. A-L B-III, C-IL, D-IV
- A-III, B-1I, C-IV, D-I

g | e ' e fifaw

T | g Tl 11 Faor
g aftautaaT, gaame AR saEr St wafer & 3ed
A. | Fe-3Tw l. y
& 3R &
Tegasil 3N gedanil @ 3Fa @t &
B . SifEreifaa fRam =T §
) it afgiat ik coaw 3fag gag 7 fde
C. | gear (3eid) M. pa—e
erETaeRol # Ifewi@d HeddpR Jied §Y &
D. | 3fEdca V. e & £

Aeafaf@a ffwear & 88 33X 7 99 Hifaw

B O R

(1)1
) 2
(3) 3
(4) 4
1[Option ID=33165]
2[Option ID=33166]

3[Option ID=33167]
4[Option ID=33168]

- A-ILL B-1, C-III, D-IV
- A-TV, B-II, C-I1, D-1
. A-L B-II, C-IL, D-IV
- AL B-IL, C-TV, D-1

Question Description : commerce_commerce_set 1_english_q67

prepp

Your Personal Exams Guide

Sl. No.68
QBID:18068

Match List I with List IT

LISTI LIST II
A [Margin of Safety I [Profit x sales / PV Ranio
B. [Break Even Point |11 ?Di::':rence between total revenue and total variable
C. [PV Ratio 111 {Total Sales-Total Variable Cost / Total Sales
D. |Contribution IV.[Equality between contribution and total fixed costs.

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIT, D-1IV
2. A-L B-IV, C-IIL D-TI
3. AL B-1, C-1I, D-IV
4. A-IV, B-1, C-11, D-III
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(1)1
) 2
(3) 3
(4) 4

el 1T Gl 11 U e Sifee
Gl T I

A |arE T | L T x fast
PV 3{HUId
B. |HqeH &R fdg| 1. el Aoa d ddl @R R1d o sitd ] 3k
B 195kl — P 9= Arld
C. |41t 3rguid |1 o
D. | 3f7IgH 1V. | 321G d el (R AFTd & il YA

fgfcRad [ddhedl § ¥ Tol 3R &l 99 P -

1. A-I, B-1I, C-1IL, D-IV
2. A-L, B-1V, C-II1, D-II
3. A-IIT, B-1, C-11, D-IV
4. A-IV, B-1. C-11, D-III
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=33169] Question Description : commerce_commerce_set 1_english_q68
2[Option ID=33170]

3[Option ID=33171]
4[Option ID=33172]

prepp
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Sl. No.69
QBID:18069

Match List I with List IT

LISTI LISTII

A [Finance Lease 1. [The lessee and the owner of the equipment are two different entities.

[essee sells an asset for cash to a prospective lessor and then leases

. [Romsactons & back the same assets

The lessor does not transfer all the risk and rewards incidental to the

C. |Sale and Lease back [III. :
lownership of the assets.

) . [The lessor transfers substantially all the nsks and rewards incidental
D. |Direct leaze V. :
ito the ownership of the assets to the lessee.

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-I
2. A-IV, B-I11, C-1, D-II
3. A-L, B-II, C-IIL, D-IV
4, A-1, B-1I, C-IV, D-III

OR!

) 2

(3) 3

(4) 4
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il 1 I1Y | 11 T e Pifore

el T 11
A [FEuE I |U2GaR 3R SYEHIV & W, &l (4 Jai g |
U2 aR fadl Uil &1 Ue GRIdal, USTald] &l Ad6 ad adl
B |FEEET | T i e 981 ORI @ aow O TR AT € |
. |[o1 SR gt [ | UETamT uREukEl & T & S T S R
(gt | REBR BEIidiRd el Pl g |
. | UZTars UgaR ®f uREURAT & Wi & S T
0| H I"a’fﬁaﬂaﬁ?g{@mﬁamidﬁdmm%l

i fGU 70 fqdhed! H T Ug! TR &I 98- I -

1. A-IV, B-III, C-I1, D-I
2. A-IV, B-111, C-1, D-II
3. AL B-II, C-1IL, D-IV
4. A-I, B-11, C-IV, D-1I1

(1)1

) 2

(3) 3

(4) 4

1[Option ID=33173] Question Description : commerce_commerce_set 1_english_q69
2[Option ID=33174]
3[Option ID=33175]
4[Option ID=33176]

prepp
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Sl. No.70
QBID:18070

Match List I with List IT

LISTI LISTII
(Tvpe of Test) (Subject matter of the problem)

A [Kruskal-Wallis I Parametric test to compare means of more than two population

test groups
B |7 test I Non-parametric test to compare means of more than two population

|groups

C. |Anova test 11T [Non-parametric test to test the goodness of fit
D. |Chi-square test |IV |Testing the difference between means of two sample groups.

Choose the correct answer from the options given below:

L. A-II, B-TV, C-1, D-IIT
2. A-II, B-TII, C-TV, D-1
3. A-IIL B-1. C-II, D-IV
4, A-1, B-11, C-III, D-IV

(1) 1

(2) 2

(3) 3

(4) 4

il 1 1Y Gl 11 BT HeH Bifore

T I
T THR THwn F vy

PHDIT- ¢ &l 9 HU® TG G| & "I B gaT
B. [deudem |n gﬁmmﬂsﬁwﬁfaﬁw
= qqqgf;maﬁq 111 | GHFGT &5 TI&0T & T SuTaford TXiamT

D | P& - ¥R | | & WU SHET & Al & o o ofad B
[ [rieror

=i U U fadet! | T el IR &1 I8 Hiforu :

. A-IL B-1V, C-I, D-TII
-A-IL B-TIL C-TIV, D-1
. A-IIL B-1, C-IL, D-IV
. A-I B-II, C-III, D-IV

R e
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=33177]
2[Option ID=33178]

3[Option ID=33179]
4[Option ID=33180]

Question Description : commerce_commerce_set 1_english_q70

prepp

Your Personal Exams Guide

Sl. No.71
QBID:18071

Match List I with List IT

List I Characteristic

List IT Leadership Mode

A_ | Source of power I. | Power extension
B. | Concept of power II. | Empowerment
C. | Dominant need I11. | Bulding culture
D. | Managing style IV | Multiplyving

- A-IL B-IV, C-1,
. A-IV, B-1II, C-1,

o

(1) 1
(2) 2
3) 3
(4) 4

D-I1I
D-III

. A-IL, B-1V, C-II1, D-1
. A-IL, B-II, C-L, D-IV

Choose the correct answer from the options given below :

Tt 1 1Y Gl 11 T e Hiforg

T 1 AR Tt 11 7 UPR
A | =i @ I BIESAEIE
B. | T0dd & S@umon il TGP
C. |Uad azgamar M |S5pid F=Eo
D. | gae 2t A EGE

-A-IL B-1IV, C-1
-A-IV, B-11, C-1

N

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=33181]
2[Option ID=33182]

3[Option ID=33183]
4[Option ID=33184]

, D-TII
, D-TII

- A-IL B-IV, C-TI1, D-I
-A-IL B-III, C-I, D-IV

Question Description : commerce_commerce_set 1_english_q71

i feu e fasmeul § 9 Ul 3wk &1 99 Difor :

Sl. No.72
QBID:18072
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Match List T with List IT
LISTI LISTII
(Application narratives) (Statistical distributions)

% Time mteq‘al between successive arrival of T Warcic ditriboion
customers in a queue

B Dl.s‘t_n..bur.mn ot incomme, property ol crakag fnmian II. [Poisson distribution
abilities in a capitalistic society

C MO\'em@t of stgck prices .a.nd distributing of T ———
income in a socialistic society
Distribution of rare events i.e the probabilitv of

D. loccurrence is very small but the number of trials are IV [Lognormal distribution
very large

. A-L B-1IV, C-11,
. A-I, B-II, C-I1I,
(1) 1
(2) 2
(3) 3
(4) 4

N R

. A-IL B-1V, C-II1, D-1
. A-IIT, B-1, C-IV, D-II

D-I1I
D-1IV

il 1 T1Y i 11 T HelH Pifore

Choose the correct answer from the options given below:

AT |
SITUART ST faror
" %mﬁwsmﬁ?aﬂjmmm R & a9 .
B |1 ﬁﬂ;ﬂﬁﬂﬁ;ﬂlﬂuﬂwﬁraﬁ?ﬁww I |oEy G
& w%qlcwmwﬁmmqwﬁwmaﬁ? g -

.A-L BV, C-II,

B e A

@ 1
(2) 2
3) 3
4) 4
1[Option ID=33185]
2[Option ID=33186]

3[Option ID=33187]
4[Option ID=33188]

. A-I, B-II, C-III,

1 fGU U fqdhed! H T Ug! TR &I 98- ol :

. A-IL B-IV, C-III, D-I
. A-IIL B-1, C-IV, D-TI

D-III
D-1V

Question Description : commerce_commerce_set 1_english_q72

prepp

Your Personal Exams Guide

Sl. No.73
QBID:18073
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Match List I with List IT

= LISTII
(Sales Promotion (Goal)
Method)
A Smd? I |To incentivize customers to try a new product
allowances
B. Premiums II. |To incentivize stores to trv a new product
C. |Sampling IT1.|To incentivize stores to keep selling a product
D. |Advertising IV.|To incentivize customers to increase their consumption.

Choose the correct answer from the options given below:

. A-IL, B-IV, C-1, D-II
. A-IV, B-II, C-1, D-II
. A-II, B-IV, C-TII, D-1
. A-IIL B-1V, C-I, D-II
(1) 1
(2) 2
(3) 3
(4) 4

el 1 1Y I 11 BT HaAH BT -
kSl A I
a&q

B O R

farg dad= fafyr
. U JAG & GRIETT & fod SuHEar &l Jaiid
A |Tid v L |
SPMHIER] @ Y 3AIG b Y& B A8 Ilid
B. | iy IL T |

. SO ER] B UH SAIG ST - STRT 3@ & 107
S b Sl s

.| SuviEarHi @ U @ud 96 & 7Y 3aid
D. |fasm= V. kA

i feu U fasm el § 9§ Uel 3tk &1 99+ DIforu -

. A-IL B-IV, C-1, D-III
. A-IV, B-11, C-1, D-III
. A-IIL B-IV, C-II1, D-1
CA-IILL B-TV, C-1, D-II
(1)1
(2) 2
(3) 3
4) 4

B e A

1[Option ID=33189] Question Description : commerce_commerce_set 1_english_q73
2[Option ID=33190]
3[Option ID=33191]
4[Option ID=33192]

prepp

Your Personal Exams Guide

Sl. No.74
QBID:18074

Match List I with List IT

LISTI
(The sale of Goods Act, 1930) (]_S{ i;l;olnl)
(Condition)
A |Sale by Auction I |15
B. |Breach of Warranty 1L 27
C. |Sale by Description I 13
D. |Transfer of Title IV 64

Choose the correct answer from the options given below:

. A-IV, B-III, C-I, D-TI
. A-IV, B-I, C-III, D-TI
. A-IIL, B-1V, C-II, D-I
. A-IIL B-1, C-IL, D-IV
1) 1
() 2

B O R
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3) 3
(4) 4

it 1 1Y Gl 11 T e Hifor -
1 T 11
ERl URT
A &R {6l L
aRELHT IL|2
TqaR01 g faisel 1 {1

BRI (FTH) PT IV, |64
YT

1 fau U fasmedl § 9 Uel 3wk &1 99+ Diforu :

. A-IV, B-II, C-1, D-II
. A-IV, B-1, C-III, D-II
. A-III, B-IV, C-II, D-1
. A-III, B-1, C-I1, D-IV
(1)1
(2) 2
(3) 3
(4) 4

ot
LA

=l

[#%]

O |n(wE|®

R S N

1[Option ID=33193] Question Description : commerce_commerce_set 1_english_q74
2[Option ID=33194]
3[Option ID=33195]
4[Option ID=33196]

Sl. No.75
QBID:18075

Match List I with List IT

LISTI LISTII
Income Tax Return) (Relationship with)

For a company other than a company claiming exemption under

A [ITR-2 L :
section 11

B. [ITR-6 11 [For presumptive business income covered w's 44 AD and 44 AE

c lmr7 i For a person (including a company who are required to furnish return

= ] Tu's 139 (4A) or 139 (4B) or 139 (4C) or 139 (4D}

D. [ITR-4 (Sugam) v For md}ndual and HUF not having income for business and

profession.

Choose the correct answer from the options given below:

1. A-IV, B-1, C-1II, D-III
2. A-IV, B-1, CIII, D-II
3. A-III B-1I, C-TV, D-1
4. A-IL, B-1, C-IV, D-III

(1)1

() 2

(3) 3

(4) 4
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et 1 T1Y Y| 11 T e Pifor -
-“Fﬁﬁ;wﬁ T 11 ¥ weEfua

A |1TR . [ oI R 11 9 Geq @ @1 ol el 8, S S D1 o1
_|1R2 ; AR,

B |ITR-6 I1. | URT44AD 3R 44 AE H IfciRad AN PRGN 319 o g

U U Afad (TP HAEIHT Hiad) & fo7d fole U1 139 (4A) TT 139 (4B) T1 139
|4c) T 139 (4D) T ded Red SR BT & |

D. |ITR4 (M) | IV. %@T&ﬁw%ﬁwaimmﬂmwﬁmm I 217

A fau U fasmeul ¥ 9 Uel 3wk &1 99+ Difor

CA-IV, B-1, C-I1, D-III
. A-IV, B-1, C-III, D-II
CA-IIL B-I1L C-IV, D-1
.A-IL B-1, C-IV, D-III
@) 1
() 2
(3) 3
4) 4

C. |ITR-7 1T

B O R

1[Option ID=33197] Question Description : commerce_commerce_set 1_english_q75
2[Option ID=33198]
3[Option ID=33199]
4[Option ID=33200]

prepp

Your Personal Exams Guide

Sl. No.76
QBID:18076

Sequence the following different settlement stages of the WTO dispute settlement System.

A, Retaliation

B. Implementation
C. Panel Review
D. Appellate

E. Consultations

Choose the correct answer from the options given below:

Pt L
ommo
MO O
PNy
> @0
0w

11
(2) 2
(3) 3
4) 4

9% SR Y1164 (Ssey c1311) fadTe a1UM Yol & HafcRad fafis gares 9o & hHdg I |

i fau e fasmeul § O Ul 3wk &1 99+ Difor :

SR A VB

1

2.E.D,
3:E. C,
4. D, E,

OO
noN
& W
to >
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1[Option ID=33201] Question Description : commerce_commerce_set 1_english_q76
2[Option ID=33202]
3[Option ID=33203]
4[Option ID=33204]

Sl. No.77
QBID:18077

Arrange in proper sequence the following benefits available to Information System Auditor who uses CATT:

A. Check susceptibility to threat. Much of the accounting is done through cloud accounts or other online system.
B. Evaluating the system

C. Data security

D. Bolsters controls

E. Develop IT Governance

Choose the correct answer from the options given below:

1.E,D,C,B,A
2.C,B,A,D.E
3.A.B.C.D,E
4.B,A.E.C.D

@) 1

(2) 2

(3) 3

(4) 4

Fafaiad aryl &1 9el HH | aid &1 ol CATT YA & did Ya-Tda 3fdbeful & e 3uds g

A GR & Ul Sfddea2iad] | 3 okl SR aell3s @ld! Al 3 3A-digd dA Y gidl g |
B. OF &I DA

C. SeI-GRe&fl

D. R &l YR ST &

E. 31321, Y=Y &1 fabrg

A 16U U fddedl # U gl 3R &1 I99d BIfoTe :

1[Option ID=33205] Question Description : commerce_commerce_set 1_english_q77
2[Option ID=33206]
3[Option ID=33207]
4[Option ID=33208]

Sl. No.78
QBID:18078

Arrange the following steps in a proper sequence to forecast the demand for a product systematically and scientifically.

A. Making choice of method for demand forecasting
B. Estimation and interpretation of results

C. Specifying the objectives

D. Determining the time perspective

E. Collection of data and data adjustment.

Choose the correct answer from the options given below:

A E.D.B

1.C,
2.C,
Fuehn
4.E,

cmtj
gt
?.PUW
Wt

11
(2) 2
(3) 3
(4) 4
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fopdl IG &I AT & JUafYd d defii-d 9 Y YaidHH T H & HafaRad der! o gl &H | sgafeud Sifor :

A. T qafqqE gq fafér o1 9aq &A1
B. URUTHI &1 Ulddha- g caReH]

. 35201 & fafeeH

D. ®Id URUeT & [HYRoT

E. ST UUgYI g Sl YAGH

i feu e fasseul § 9 Ul 3k &1 99+ Difom

1[Option ID=33209] Question Description : commerce_commerce_set 1_english_q78
2[Option ID=33210]
3[Option ID=33211]
4[Option ID=33212]

Sl. No.79
QBID:18079

Arrange the following steps involved in the budgeting in a proper sequence:

A. Screening the proposal

B. Evaluation of various proposals

C. Identification of Investment proposal
D. Performance review

E. Implementing the proposal.

Choose the correct answer from the options given below:

1.A CB,D.E
2. 0.8 DLEBE
3.3.CCAB,E.D
4.A.B.C,D.E

1) 1

2) 2

3) 3

(4) 4

Uoll So1e 1Rl Bl Ulchan | 3ididy Hafafad serl & gl $9 § afyd SIfo -

A. U9 I SHEEH

B. faft uedral &1 gedid-
C. 11921 U1 &1 UgdaH &Rl
D. BRI FNITE YR

E. UXd1d &1 fharag-

i fau TTu fassedl § O Ul 3wk &1 99+ Diforu ;

1.ALC,B,D.E
2.CADBE
F:C A BB D
48 B G B E
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=33213] Question Description : commerce_commerce_set 1_english_q79

2[Option ID=33214]
3[Option ID=33215]
4[Option ID=33216]
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Sl. No.80
QBID:18080

Arrange the following steps involved in a research process to carry out orderly and systematic research:

A. Formulating hypothesis

B. Collection and analysis of data
C. Defining research problem

D. Prepare research design

E. Interpretation and report writing.

Choose the correct answer from the options given below:

1.D,A,C.E.B
2. 048 DB.E
3.A,B.C.D,E
4.C,B,AE,D

(1) 1

(2) 2

3) 3

4) 4

UG 9 YAared XY o fau 2y Ui | siaffed 9 el &1 U8l %8 H oHafyd Hifoi -

A Ulddhedd =g

B. Sl YUgUI g [d<eiyu

C. 2N YA &1 GRHIHT BT
D. MY BT TR HIAT

E. SORAT 9 Yfdded o

i fau U fasmeul § 9 Ul 3k &1 99+ DifoTu :

1[Option ID=33217] Question Description : commerce_commerce_set 1_english_q80
2[Option ID=33218]
3[Option ID=33219]
4[Option ID=33220]

prepp

Your Personal Exams Guide

Sl. No.81
QBID:18081

Arrange the following examples of human needs in the hirearchy of their increasing importance.

A Insurance for accidents

B. Recognition and respect from others

C. Food and shelter provisions

D. Accomplishing distinction in chosen area by maximising potential.
E. Developing meaningful relations with others.

Choose the correct answer from the options given below :

1.A,C,E,B,D
2.C,A,B,E,D
3.A,C,E,D,B
4.C,A,E.B,D

@) 1

(2) 2

(3) 3

(4) 4
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OHdY adhdisi & 8 I&eel &I Idd Hed & dgd UGHHHYR AR HIfST :

A. gHeATs{i gq &l

B. THRI Y HIIAT 9 3163

C. T 3R 314 JIaeT

D. YHIFAT & ST THIhRUN gRT T & H {9219 givear ured 631
E. TRI & 1Y s Yaef [dab ¥d dH=A1

I feu T fashedl ® ¥ It SR & 98 Hifei :

A CEBD

npo
P oy
i
WO
Owo

1[Option ID=33221] Question Description : commerce_commerce_set 1_english_q81
2[Option ID=33222]
3[Option ID=33223]
4[Option ID=33224]

Sl. No.82
QBID:18082

Arrange the following industry verticals in the ascending order of their weightages in the index of core industries in india.

A. Coal

B. Cement

C. Refinery Products
D. Electricity

E. Steel

Choose the correct answer from the options given below:

I1.A.C,D.B,E
2.ELB.D A, C
3.BLALE.D,C
4,B,E.D,C, A

1) 1

) 2

3) 3

(4) 4

Fafad siiefiies JurT & YRd H Ugd S9N & gdbid H 3-d URIB] & ARG & H Hafkud sifer|

A. DI
B. UA=<

c. Rwr-3dre
D. faggd
E. Td

i fau TTu fassedl § O Ul 3wk &1 99+ Diforu ;

AC.D.BE

W w I
b
omo
nop
=N o Ne]

1[Option ID=33225] Question Description : commerce_commerce_set 1_english_q82
2[Option ID=33226]
3[Option ID=33227]
4[Option ID=33228]
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Sl. No.83
QBID:18083

Arrange the following stages of buying decision process in the logical sequence.

A. Comprehension
B. Adoption

C. Need recognition
D. Legitimization
E. Attitude forming.

Choose the correct answer from the options given below:

1L.ACDEDB
2.C,A,B,D,E
ICAEDE
4.C,E,D,A. B

1) 1

(2) 2

(3) 3

(4) 4

%1 ol uftear & fHgfeiad =T & dbdTd $H H Iafed SIfor |

A TRFH

B. 3TTH0T

C. HaGDHdl I UgdH
D. G

E. BIfgd fAaior

i fau U fasmeul § 9 Ul 3k &1 99+ DifoTu :

1[Option ID=33229] Question Description : commerce_commerce_set 1_english_q83
2[Option ID=33230]
3[Option ID=33231]
4[Option ID=33232]

prepp

Your Personal Exams Guide

Sl. No.84
QBID:18084

Arrange the Intellectual Capital Management Process Flow Stages in a proper sequential order :

A Index

B. Capture
C. Replicate
D. Identify
E. Store

Choose the correct answer from the options given below:

.B,D,A,E,C
.B.D.A,C,E
.ID.B.AEC
.D,A,B,E,C
1) 1
(2) 2
3) 3
4) 4

B O R
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B. Ul

. Ufdefd

D. UgdH &l
E. 4%

1.B,D,A,E,C
2.B,D,A,C,E
3: DB ACE G
4.D,A,B,E . C

1) 1

) 2

3) 3

(4) 4

1[Option ID=33233]
2[Option ID=33234]
3[Option ID=33235]
4[Option ID=33236]

dilgd® Yoll Uee Ui udTg <RUll &l HHdw i ;
A. gABIH ()

i f&U 7Y f[ddhed! H T Ug! SR &1 98- Blifold -

prepp

Your Personal Exams Guide

Question Description : commerce_commerce_set 1_english_q84

Sl. No.85
QBID:18085

sequence:

instalments)

1.A, B, ED.C
2.C,A,B.E.D
3.AC,B;E.D
4.D,ABEC

(1) 1

) 2

3) 3

(4) 4

C. 3UTWT fhmr

1.A,B,E,D.C
2.C,A,B,E.D
3.A,C,B,ED
4.D,A B, E,C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=33237]

Computation of income from house property for let-out house, the following items are deducted. Arrange them in a proper

A. Local taxes/Municipal Taxes

B. Standard deductions

C. Unrealized Rent

D. Interest on loan for the period the prior to previous vear in which the house is completed (in five equal annual

E. Interest on loan taken for purchase, construction or repair of the house, relating to the previous year

Choose the correct answer from the options given below:

el UR fQU 1T AT U G aTell 31mg &1 70T & e FRafciiRad He1 &1 aern Srdr g 1 35 98l H H ogdfyd o -

A. R B/ ARUIIDT HR
B. HF® deliddl (8o [SSaeH)

D. A &I 501 GR1 g dTel 71d 99 9 gd B 3fafdl & 3601 &1 &7el (U YA dlitids fhdl o)
E. A& &1 WIS AT 1 AR & fefg 7Y 01 0R &1 ol 7 oy 9 Heifd g |

1 fGU U fddhed! H T Ug! TR &1 98- BHIfol :

Question Description : commerce_commerce_set 1_english_q85
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2[Option ID=33238]
3[Option ID=33239]
4[Option ID=33240]
Sl. No.86
QBID:18086

Given below are two statements:

Statement I : Monetary policy on its own cannot influence economic growth but can only support it by creating congenial
factors.

Statement IT: Monetary policy rates change get transmitted across the markets and eventually get reflected in lending rates,
mortgage rates and yields. Hence, monetary policy can address the current inflation.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement IT is false
. Statement I is false but Statement II is true
(1) 1
(2) 2
(3) 3
(4) 4

BIEAGIE A U

DU 1: Al Hifd W 20 319 31D i DI YHIdd 981 SR Ghdl © Ug 3dd BRI bl (AT b dhad
D] AU D Yl © |

&Y 11 : Hifgd AT $1 &1 # URadA aTeiRl § W91 gidl g 3R 3! UHTT FBU &3, st &Rl 94T U 311 IR USdl
© | 3fck, Hifgd -ifd 49 gal FEpid & Yaiitd & Yol ¢ |

SWRIdd B & 3iedid H, i fGU U [dbedl § U G99 ugdd IoR & 99+ HIfou ;

1. HYF1AR 1 aH 9d g
2. HYUF1 3R 1 G A g
3. HUT 1A B, A Y 11 3T
4. BYT13ITI g, dfbd FUT 1 9 ©
1) 1
(2) 2
(3) 3
(4) 4

B R A

1[Option ID=33241] Question Description : commerce_commerce_set 1_english_q86
2[Option ID=33242]
3[Option ID=33243]
4[Option ID=33244]

Sl. No.87
QBID:18087

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : When holding company holds more than 50% (but not whole) shares of a company, then the holders of the
rest of shares will be known as "Minority".

Reason R : Minority interest is calculated by considering proportionate shares and reserves of Holding Company.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
. A is true but R is false

. A is false but R is true

(1) 1

(2) 2

(3) 3

(4) 4

S e A
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:ﬁ%ﬁaﬂﬁﬁqw% :]3553{&43'7?4:{ { Assertion A}%Wﬁﬁ'ﬁ@ﬂ%?ﬁ G 3D HRU[ (Reason R}%Wﬁ;
HYHYT A : Od Bls (HUAD B! [l B! b 50% U SaTGT AR (Tl UR Ael) 3@l B, di Y AR & URBI| Bl
3[R D gl SIE |

HRUIR : FRAS ST & GHEUIAS TRT 3R AR FiY & TR W 3@ fgdl &1 T0H1 &I Sl ¢ |
SWRIad YA & ATdlD H, =i 38 U fdhedl H U Ug! 3R &l 99 DIl ;

CARREGHI TG 3R R, ADI UG TRAT

. A 3R RGHI A g, Al R, A Bl gl TRAT el ©
A g, dlBAR 3TA T

ATAG, diPARIT G

1) 1

(2) 2

(3) 3

4) 4

N I e B

1[Option ID=33245] Question Description : commerce_commerce_set 1_english_q87
2[Option ID=33246]
3[Option ID=33247]
4[Option ID=33248]

Sl. No.88
QBID:18088

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion-A: The theories of price determination under oligopoly are found to be inapplicable to real life market conditions.

Reason-R: Real life oligopoly market situation is characterized by small number of sellers, interdependence of decision
making, barriers to entry, indeterminate price and output: all leading to wide variety of situations.

In the light of the above statements, choose the most appropriate answer from the options given below

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A

. A s correct but R is not correct

. A is not correct but R is correct

(1) 1

(2) 2

3) 3

4) 4

:ﬂ%aﬁaﬂﬁqW% : Udh SUDHYA (Assertion A}%Wﬁﬁf@ﬂ%?ﬁ G 3D HIRUJ (Reason R) & FOH;
HYDHYA A : SHUIIDR & e BId MR & i ardfdd Sitad &1 aoR [Ryferd! o sFuged g =i g |
HRUTR : JRAfdD Sfia Pl eulitioR SR Ryl o fafReme § : fasharsi &1 $ict we, FHofa o &t sia:
FYRdr, gz @ F141d, fAfYd $1Hd IR Id1E: 34 Ydd dad A fafqear el fRufaai ST gl g |
SWRIad HY & Il H, i U T [gbetl # 4 Hg1 IR &1 99 Sifelu :

AARRGHAIGT G 3R R, A DI U ARAT ¢

A SRR GHI 9 g, AR, A Bl U5l ARG &
ATEI g, UibIR TG Tol ©

A S . dfPTR UET 8

o 2

3) 3

(4) 4

B e A

S O

1[Option ID=33249] Question Description : commerce_commerce_set 1_english_q88
2[Option ID=33250]
3[Option ID=33251]
4[Option ID=33252]

Sl. No.89
QBID:18089
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Given below are two statements:

Statement I : Translation exposure refers to the exchange gain or loss occurring from the difference in the exchange rate at
the beginning and the end of the accounting period.

Statement I1: Transaction exposure refers to the change in the value of the firm caused by the unexpected changes in the
exchange rate.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement [ is incorrect but Statement II is correct
(1) 1
(2) 2
3) 3
4) a

eI HYTGU TR -

DY 1 : 3dIG G (SR THUTSR) BT Hebd ol 3af¥ & HRY 3R 3fd § faf 09 ax § 3iq¥ & HRUI g
arcil faf=ma uiftd sryar g &l SR g |

DY 11 : HAER S8 DT Ydvd 911G & H 3FURT URAdA! & HRUIHH & Jed H §U dadd & 3R g
SWIdd Y- & Hdlid H, i< ST U [dbedl § U G99 Jugdd IR &l 99+ HIfoU ;

HY1 AR naH gl g
HYF1 3R 1 &l TTed §

AIE S R I G B B RN E
HYF 1A ¢, dbT HYA 1 Ul ©
1) 1

) 2

3) 3

4) 4

[ S

1[Option ID=33253] Question Description : commerce_commerce_set 1_english_q89
2[Option ID=33254]
3[Option ID=33255]
4[Option ID=33256]

Sl. No.90
QBID:18090

Given below are two statements:

Statement I : If a population from which a sample is to be drawn does not constitute a homogenous group, stratified
sampling technique is generally applied in order to obtain a representative sample.

Statement IT: In the case of small samples, z-test is applied even if the population standard deviation is not available
(given).

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
11

(2) 2

(3) 3

(4) 4

B R B
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EIEAEEE AT

@Y1 - Tfe MO felT ST-arel SI-RERS g Welldid g1 §. df Wi Sfte ured - & fau gmrgdqar Tkied
UiradH ddh-ld & ar] fhar Sl g |

DY 11 - BI¢ Yitdl & gred J, S8 A fdde Iudsy 9 814 (Uet) IR 41 SIS wieor di] {Gar Srdig |
SWRIc] B & Held 4, Hid ST U [ddh el T U 994 Iugdd IR &1 994 Do :

1. Y1 3R 1 &l gl g
2. Y1 AR I G Tad o
3. HUT IR S, Afbd S n Ted ©
4. B 17Tdd g, dfbd YT 11 Tl o
1) 1
2) 2
(3) 3
4) 4

1[Option ID=33257] Question Description : commerce_commerce_set 1_english_q90
2[Option ID=33258]
3[Option ID=33259]
4[Option ID=33260]

Sl. No.91
QBID:18091
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The economy of India is a mixed, middle-income. developing social market economy. It is the world's fifth-largest economy
by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments, and exports. India has been a member of the World Trade Organization since | January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations, India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

FafaRad T &I GrayHgded Uieu, 3R TR & SYR TR UY &bl 3R alfol |

“YRd B fea®] U fHfYd, -3/, f[ahreiicd GHiod deiR Haqwil g | il Ydbd e 316 & IR
75 fay 1 Uidd! 9ad 931 3R paifad gAadedd (Ul.dhdl) & 28R ad 9ad 931 Joua®iT g | SARRAP Hal
DIY (3M2.TH.UE.) B AR (A bl I 3G (F.H.3.) & YR W Hiqoiad 0 H URT &1 RIF 14241 3R
(UIgidl) 9.9, 3. & YR WR 12537 8 | 1942 F el Td7d1 T 1991 T, HHLT: YR TRBR] - GREUEre! e ifaai
DI Jerdal fadr [orgH o0 &1 gWay 3R e [HTH- SfAitd o Ay A6 & U H, =01 g1 suo! a2 o
Md-gg &I GHIGT 3R 1991 & U8 YIIH-Hde Ybed YRd § A Hfid SeRIBI0 &l W[ &1 faar | 214
Qcllec] & URT U gl Yhel 9] IIG Bi HIYd ditich 9ies &R 6% T 7% 81 8 | G 2013 Y 2018 dcb, YR Ti-I Bl
UsTSd gU a4y & Uad oo g6+ dial WRg sffeqaw o |

R SUHGTEIT &1 AR, SHHciads 3dgr & SMUEi ord | [y B Tad a1 iyl 5! o o b
194l TTdTeal & YRT H IUARIENG &7 WigHid 81 gl 71 | U U1 U1, & SR W fay srfaqaen o YRd srfaqaw &
feRiaRt 7.5% 4 |

a1, Y- R SFurd, gaie s9d, A9 &3, HRd H SRR d¢d 4107 3R 3 srlaqawl & a1y
U 1RV - URATY Sfea®y] & diHbiieid g uRUEd & YbRIFD Q1 ¢ | HRd BT AU 70% Fdbel 9 3G
SN T ITHRT Y 1o © | YR 9% 1 S6d1 Uay 981 ST 9eR © | sl STYN & @], YR Ihd
TR JAIG WRBRT Y, (a2 SR fHaidl ¥ Ut S J80 ddl § | U SHadl, 1995, H g1 YRd {94 AMUR W69 H1
U Yo' § | DRIGR 6 H Gide & Ydbidh & AHd § YR &1 - 3741 3R di%d Ufagifarétdd RuRd &
YR 3791 § | U Ul STeR &1 &2 H 3(@Afeid IdR-9¢Id & SR HRA & A0 d Ybd =R IdIg § off Hgwyul
Te19-d3Id &g DI THAAI 8 | 50 BRIS (500 M) YHDT & Ty YR 19y Pl gl o g2t 99 Ll 8 | YR fay
& 3 %0 1 U ¢ Wigl SREull &1 U Galied 3R its fdd Mg | 9gd URI @l & HRUI had 2%
YRATT € SR Gd ¢ |

Given below are two statements:

Statement I : India has one of the world's highest number of billionaires and extreme income inequality. Because of several
exemptions, barely 5% of Indians pay income taxes.

Statement IT: With 50 crore (500 million) workers, the Indian labour force is the world's second-largest.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
1) 1

(2) 2

(3) 3

(4) 4

B R R
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A el pyfeumug

HYF 1 YR [a% & RIUG! &1 Faiieid T drdl R HANS S SRHMHT dred o1 H U g | 9gd URI gel &
DR Had 5% HRAI 81 AP G g |

BYF I : R HH-RIR, 50 BRIS (500 [HICTIT) HHDI & T 199 DI GO Ty S9! YA T |

SWRIc] B & Held 4, Hid fGU U [ddh el T U Y94 Iugdd IR &1 99 Do :

1. Y1 3R 1 &l gl g
2. Y1 AR I G Tad o
3. HUT IR S, Afbd S n Ted ©
4. B 17Tdd g, dfbd YT 11 Tl o
1) 1
) 2
(3) 3
4) 4

1[Option ID=33261] Question Description : commerce_commerce_set 1_english_q91
2[Option ID=33262]
3[Option ID=33263]
4[Option ID=33264]

Sl. No.92
QBID:18092
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The economy of India is a mixed, middle-income. developing social market economy. It is the world's fifth-largest economy
by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments, and exports. India has been a member of the World Trade Organization since | January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations, India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

FafaRad T &I GrayHgded Uieu, 3R TR & SYR TR UY &bl 3R alfol |

“UR $I 3fa] Udh RS, Aed- 31, fahRiid YHmsd SeiR 3ierd®l g | I Ybd W IdIE & IR
75 fay 1 Uidd! 9ad 931 3R paifad gAadeddm (Ul.dLdl) & 28R ad 9ad 931 foua®iT g | SARRAP Hal
DIY (3M2.TH.UE.) B AR (A bl I 3G (F.H.3.) & YR W Hiqoiad 0 H URT &1 RIF 14241 3R
(UIgidl) 9.9, 3. & YR WR 12537 8 | 1942 F el Td7d1 T 1991 T, HHLT: YR TRBR] - GREUEre! e ifaai
DI Jerdal fadr [orgH o0 &1 gWay 3R e [HTH- SfAitd o Ay A6 & U H, =01 g1 suo! a2 o
Md-gg &I GHIGT 3R 1991 & Uds YIdH-Hde Ybed YRd § A 31fid SeRIBI0 &l Wi &1 far | 21T
Qrclec] & TR U gl Yhel 9] 3G Bi Y diitich 9is &R 6% T 7% 81 8 | T 2013 Y 2018 dcb, YR Ti- Bl
UsTSd gU a4y & Uad oo g6+ dial WRg sffeqaw o |

R SUHGTEIT &1 AR, SHHciads 3dgr & SMUEi ord | [y B Tad a1 iyl 5! o o b
194l TTdTeal & YRT H IUARIENG &7 WigHid 81 gl 71 | U U1 U1, & SR W fay srfaqaen o YRd srfaqaw &
RIGR] 7.5% T |

a1, Y- R SFurd, gaie s9d, A9 &3, HRd H SRR d¢d 4107 3R 3 srlaqawl & a1y
U 1RV - URATY Sfea®y] & diHbiieid g uRUEd & YbRIFD Q1 ¢ | HRd BT AU 70% Fdbel 9 3G
SN T ITHRT Y 1o © | YR 9% 1 S6d1 Uay 981 ST 9eR © | sl STYN & @], YR Ihd
TR I WRBRT Y, (a2 SR faidl ¥ Ut S T80 3l § | U SHail, 1995, H g1 YRd {94 HMUR W64 H1
U Yo' § | DRIGR 6 H Gide & Ydbidh & AHd § YR &1 - 3741 3R di%d Ufagifarétdd RuRd &
YR 3791 § | U Ul STeR &1 &2 H 3(@Afeid IdR-9¢Id & SR HRA & A0 d Ybd =R IdIg § off Hgwyul
Te19-d3Id &g DI THAAI 8 | 50 BRIS (500 M) YHDT & Ty YR 19y Pl gl o g2t 99 Ll 8 | YR fay
& 3 %0 1 U ¢ Wigl SREull &1 U Galied 3R its fdd Mg | 9gd URI @l & HRUI had 2%
YRATI € AR Sd § |

Which of the following is not a correct statement?

1. The economy of India is a mixed, middle-income. developing social market economy.
2. India's GDP is also fuelled by government spending, investments, and exports.
3. India has been a member of the World Trade Organization since 1 January 1996.
4. Economy of the Indian subcontinent was the largest in the world for most of the recorded history until the onset of
colonialism in early 19th century.
1 1
(2) 2
3) 3
4) 4

Faffed d Y eA-a Hya Id Tel g 2

. YRd &1 rfeqdwyl Ush A%, Ae- 31, [l IHiisid TeiR SUaw g |

. YRA BT G W IdTE TRDRT o2, a2l 3R Faidl 9 o SHoff g0 Hdi @ |

. YR¥d U oHaxl, 1996 Y a9 TIR W6 &I Uh 9 g |

. YR SUHgE @ fdeaawl 3ficRddS AR & HUHI did H [99 D Ga g1 Jqaw1 5l 9d db
&1 1997 Tdled] & UR™ H FUFRIATG DT WigHid Te g1 T |

B S
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(1) 1

2) 2

(3) 3

4) 4

1[Option ID=33265] Question Description : commerce_commerce_set 1_english_q92
2[Option ID=33266]

3[Option ID=33267]
4[Option ID=33268]

Sl. No.93
QBID:18093

The economy of India is a mixed, middle-income. developing social market economy. It is the world's fifth-largest economy
by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments, and exports. India has been a member of the World Trade Organization since | January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations, India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

fafeiRad e $f grayFgds gieu, SR el & SR TR Y &l Sk aifod |

R $I HfaR)] U Ff%d, Ted- o, [aneeiid 9rmfsd aeiR 3iead®il g | i Yo d W IdiE & AR
g foy ol uiadl 9a¥ o181 3R shaifad FAgAdT (MLU1Hh) & 2UR dR el 931 a1 qRAPa Hal
DIY (3M2.TH.UE.) & AR (A bl 9 3G (F.9.3.) & YR W Yidoiad 0 H URd &1 RIF 14241 3R
(Uididl) 9.9, 3. & YR WR 1251 8 | 1942 F el AT U 1991 T, HHLT: YR TRBRI - GRefurare! i ifaai
DI FeTal a1 o Iod &1 g3ay 3R 3M11id Far At U Ay A & &9 H, F01 g1 39! [a=ivar 2|
M-I B AT 3R 1991 & TS YIIH-UdeH ded YR B A0S e IGRIGR0 B Wi a1 & | 214
Rrdlec] & YR U gl Yebol T IIG Bi 314 dIit gfs &R 6% T 7% 8l © | T2013 T 2018 b, HRd dIH DI
SIS gU 9y & Uad ool g6+ dial Wi deqawyr o |

R SUHGTEIT &1 ey, SHiiciads 3agr & S ord | [y B gad a1 laqdey1 5! od o b
19 TraTec] & YR H IUARIETG &1 WigHid 81 81 T | U Ul U1, & SR W fay srfoqaen o YRd sifaqae o
feRiaRt 7.5% 4 |

ga1-SEedT, Y- MR Surd, gaie s9d, A &l YR H SRR dgd 4107 iR 3 srlaqawil & 9y
U] 4 URAG SfHaR] & didbiieid dfa uRUEd &1 YHRID @1 ¢ | HRd BT THIHT 70% Fdbel I 3G
S ST ITHRAT ¥ 1o © | YR 9% &1 S6d1 UeY 981 SUHEd §6R © | Sl STYN & S@mEl, YRA I&hd
TRe ITG RBRT Y, a2t SR fFaidl § off Soff g8 ddl 8 | U S, 1995, 9 g1 YR {94 AR 918 &1
U UG ¢ | HRIAR S 1 giael & Ydobic & A § YR & -I1H 3741 3R dfYed giagifidiatsd RuRe &
YR 3791 § | U Ui STeR 31 &1 H 3@Afed IdR-9¢1d & HRUI HRd & Al0d Gbd =R 341G H ol fgw@yul
H21d-4¢1d o DI A g | 50 HIS (500 fATCTa) 4iHdi & Ty YR 19y D1 g3l Y4 a2t 99 fdd § | YR fay
& 3 &2 | U ¢ OIgT eRaull & U Gafieed 3R it 2fdd Mg | 9gd U1 @l & HRUI dhdd 2%
YR € AR S § |

Which one of the following is not a supportive factor to the Indian economy's long-term growth perspective?

. Young population and corresponding low dependency ratio

. Healthy savings and investment rates

. Increasing globalization in India and integration into the global economy
. Continuous increasing defence expenditure

1) 1

(2) 2

3) 3

(4) 4

B R
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R 3feqqey] & didbiicid dis uRted & fou FafaRad d 3 &1 U Jgaiil $RS 151 3 2

1. gl SEeT 3R dguiid 4 i e
2. OT S99 3R a3
3. HRA ¥ dedl dfia0r 3R 3¥® IR & 1Y THId0l
4.3 H fRR 9f e
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=33269] Question Description : commerce_commerce_set 1_english_q93
2[Option ID=33270]
3[Option ID=33271]
4[Option ID=33272]

Sl. No.94
QBID:18094 o ) _ . _ ) )
The economy of India is a mixed, middle-income, developing social market economy. It is the world's fifth-largest economy

by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major econommy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments. and exports. India has been a member of the World Trade Organization since 1 January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations. India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

fafeiRad e 31 GayrFyds gieu, SR e & YR 1R Uy &I SR 2ol |

“URd B feraed] U MY, Aed- 31, A riicd GHmiod SR HAqwil g | A1 d Ydbd e 316 & 3aR
g fay 1 Uiedl 9a9 o181 3R haiiad Al (MULL) & FUR (R el 981 IIaRIT g | SdRRP Hal
DI (3M13.0H.UH.) & IR (AIH) Ybdl IRe] 3G (H.H.3.) & YR W Ufcofad i # HRd b1 RIF 142di 3R
(UTUTUL) W, 3. & YR WR 12591 g | 1942 H M WdAar ¥ 1991 dd, HHRT: IR WRGRT A WReuEra! fida gl
D1 Jeral a1 T s &1 gWay 3R 31fid Faa- s U1 aedy Is & &9 H, 01 € 39! [ 24|
-G DI GHINGT 2R 1991 & Y3 YAH-UdeH Ybed YR H AGS e IGRIG &l Wb 941 faar | 214t
QrdTec! & YR U g1 Yebel T IdIc Bl 314d dliteh die &R 6% H 7% 61 § | T2013 F 2018 T, HRd diH &I
UslSd gU fay &1 Yay ool d¢- dicl U@ ffoqde o |

YR SUHETEIT &1 3feqaei, sficiads sfder & HUaiy Hra ¥ 13y 1 gad 921 3faqqey g o4 a6 &
19 Qclec] & YR H JufdRrdrg 1 UigHid 71 gl am | di. Ul 1. & SR W fay srfoqae # YRd srfaqawy &
ERGRT 7.5% 4l |

a1 ST, g R Surd, gaie s9d, (99 &8, YR § STRITR d6d d4ih 3R dfyd spicrawil & uiy
THIHRU A URATY ST & ErHDIieiD gia TRYUET DI GHRIAD @1 ¢ | HRA DI THTHTT 70% Tdhdl 9 341G
ST ol SUHRT ¥ G1Ted © | URd (a9 &1 3641 9oy 931 SUHIad] 9T6iR © | {5l SUHRT & Sfamal, YR Tdhd
TR IdIG WRBRT A, (A 3R il ¥ U Sof J80 xdl § | U e, 1995, 1 g URd 94 SMUR W64 &1
TP Y& © | PRIGR T 1 e & Yadbid & Aid J YR B RIF 3737 3R 3@ ufoaifarasa RuRE &
YR 3741 § | ©UY Ufd STeR &1 &3 H AP IIR-FGId b HRU YR & FIE-c Yol Tl IdG & Hi Hgwyul
HeT9-9Id G- DI A g | 50 BRI (500 HTT) 4T & Ty YR {9y B gl Gad g1 97 Ul § | YR fay
& 3 S T U § 9Ig!l SRIURTI! @1 G Haiteid AR e Mid S ¢ | 9gd URI @l & HRU had 2%
YR € SR G € |
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Given below are two statements:

Statement I : Since the start of the 21st century, annual average GDP growth rate of India has been 6% to 7%.
Statement IT: From 2013 to 2018, India was the world's fastest growing major economy, surpassing China.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement [ is incorrect but Statement II is correct
1) 1

) 2

3) 3

(4) 4

EIERA K E AR I

DY 1: 2141 Tdlscl b URD U g YURd b 314d dlitid Ydbd Tie] 3dIG &3 6% U 7% H S ol ¢ |

BYH 11 : §9 2013 § 2018 I dIF DI UBISd gU HRA 194 B Gay g 1 ¥ 1S o3 arell g spdeqawyr ot |
SRIcK] B & Hdld 4, Hid U e [ddhel # 4 998 S0 IR &1 999 DI :

1. YT 1 3R 1 &l gl g
2. Y1 3R 1 &Hl TTad §
3, HY 1981 8. dlihd HUT 1 7Id ©
4. YA 17T0d g, dfhd YT 1 Tl ©
1) 1
) 2
(3) 3
4) 4

o

1[Option ID=33273] Question Description : commerce_commerce_set 1_english_q94
2[Option ID=33274]
3[Option ID=33275]
4[Option ID=33276]

Sl. No.95
QBID:18095
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The economy of India is a mixed, middle-income. developing social market economy. It is the world's fifth-largest economy
by nominal GDP and the third-largest by Purchasing Power Parity (PPP). According to the International Monetary Fund
(IMF), on a per capita income basis, India ranked 142nd by GDP (nominal) and 125th by GDP (PPP). From Independence in
1947 until 1991, successive governments promoted protectionist economic policies, with extensive state intervention and
economic regulation. This is characterized as dirigisme, in the form of the Licence Raj. The end of the Cold war and an
acute balance of payments crisis in 1991 led to the adoption of a broad economic liberalization in India. Since the start of the
21st century, annual average GDP growth has been 6% to 7%, and from 2013 to 2018, India was the world's fastest growing
major economy, surpassing China. Economy of the Indian subcontinent was the largest in the world for most of the recorded
history until the onset of colonialism in early 19th century. Share of Indian economy is 7.5% of world economy by PPP
terms. The long-term growth perspective of the Indian economy remains positive due to its young population and
corresponding low dependency ratio, healthy savings, and investment rates, increasing globalization in India and integration
into the global economy. Nearly 70% of India's GDP is driven by domestic private consumption. The country remains the
world's sixth-largest consumer market. Apart from private consumption, India's GDP is also fuelled by government
spending, investments, and exports. India has been a member of the World Trade Organization since | January 1995. It ranks
37th on the Ease of Doing Business Index and 37th on the Global Competitiveness Report. Due to extreme rupee/dollar rate
fluctuations, India's nominal GDP too fluctuates significantly. With 50 crore (500 million) workers, the Indian labour force

is the world's second-largest. India has one of the world's highest number of billionaires and extreme income inequality.
Because of several exemptions, barely 2% of Indians pay income taxes.

FafaRad T &I GrayHgded Uieu, 3R TR & SYR TR UY &bl 3R alfol |

“YRd B fea®] U fHfYd, -3/, f[ahreiicd GHiod deiR Haqwil g | il Ydbd e 316 & IR
75 fay 1 Uidd! 9ad 931 3R paifad gAadedd (Ul.dhdl) & 28R ad 9ad 931 Joua®iT g | SARRAP Hal
DIY (3M2.TH.UE.) B AR (A bl I 3G (F.H.3.) & YR W Hiqoiad 0 H URT &1 RIF 14241 3R
(UIgidl) 9.9, 3. & YR WR 12537 8 | 1942 F el Td7d1 T 1991 T, HHLT: YR TRBR] - GREUEre! e ifaai
DI Jerdal fadr [orgH o0 &1 gWay 3R e [HTH- SfAitd o Ay A6 & U H, =01 g1 suo! a2 o
Md-gg &I GHIGT 3R 1991 & U8 YIIH-Hde Ybed YRd § A Hfid SeRIBI0 &l W[ &1 faar | 214
Qcllec] & URT U gl Yhel 9] IIG Bi HIYd ditich 9ies &R 6% T 7% 81 8 | G 2013 Y 2018 dcb, YR Ti-I Bl
UsTSd gU a4y & Uad oo g6+ dial WRg sffeqaw o |

R SUHGTEIT &1 AR, SHHciads 3dgr & SMUEi ord | [y B Tad a1 iyl 5! o o b
19l AdTec] & YR | IJufdrdre o1 WigHid g1 g1 am | . Ul 0. & 3R W fay sefoqaen o YRd srfaqawy o
feRiaRt 7.5% 4 |

a1, Y- R SFurd, gaie s9d, A9 &3, HRd H SRR d¢d 4107 3R 3 srlaqawl & a1y
U 1RV - URATY Sfea®y] & diHbiieid g uRUEd & YbRIFD Q1 ¢ | HRd BT AU 70% Fdbel 9 3G
SN T ITHRT Y 1o © | YR 9% 1 S6d1 Uay 981 ST 9eR © | sl STYN & @], YR Ihd
TR JAIG WRBRT Y, (a2 SR fHaidl ¥ Ut S J80 ddl § | U SHadl, 1995, H g1 YRd {94 AMUR W69 H1
U Yo' § | DRIGR 6 H Gide & Ydbidh & AHd § YR &1 - 3741 3R di%d Ufagifarétdd RuRd &
YR 3791 § | U Ul STeR &1 &2 H 3(@Afeid IdR-9¢Id & SR HRA & A0 d Ybd =R IdIg § off Hgwyul
Te19-d3Id &g DI THAAI 8 | 50 BRIS (500 M) YHDT & Ty YR 19y Pl gl o g2t 99 Ll 8 | YR fay
& 3 <X | U ¢ 95l eRauldl B U Galided 3R ivs fdd SuMHdl g | 9gd URI 3¢l d DRI dhad 2%
YRATT € SR Gd ¢ |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion-A: Nearly 70% of India's GDP is driven by domestic private consumption.
Reason-R: The country (India) remains the world's sixth-largest consumer market.
In the light of the above statements, choose the most appropriate answer from the options given below

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A Is correct but R is not correct

. A is not correct but R is correct

(1) 1

(2) 2

(3) 3

(4) 4

S
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A ST YA ST G : U 3MUBYU (Assertion A) D =0 H {e1fdd g ol GHRI 3Udb BRI (Reason R) b TUH:
HIYDHY A : YR & Fobel U] IAIG DI TTHIT 70% =T 1ol IYHUIT Y HIfeid gian g |

DRUIR : (URT) &2 3% BT @601 Yad 931 IUHII -dSR a1 g1 T |

SWRIad HY & 3Mlelis . i U T [dbeti § U Tl IR &1 99 DIfoU -

1. A3RRGHI A G SRR A DI T¢I AT &
2. AR RGFI T 8, dfb-1 R, A I U ARSAT 11 ©
3. AT g AfPIR TSI T8I 8
4. ATEI eI g, iR TSl §
o »
3) 3
(4) 4

1[Option ID=33277] Question Description : commerce_commerce_set 1_english_q95
2[Option ID=33278]
3[Option ID=33279]
4[Option ID=33280]

Sl. No.96
QBID:18096

India began laying the foundation for a more digital economy more than a decade ago with the launch of a national
identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
instrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade, and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

FRfcRad eI &I aeFgdd Uiey SR 3 SMTeR W UH & IR oIy (Falieid SUge) :

YR A T <91 I A THG qd YR THS-IPTT Ugd brdhH &b TRH & 1Y U 3ifdd-2ibig (f$foiea)
S HIRIT 1 gi-aTe G 3R fdodn U7 | I8 YUTel! ey YHI0 RI1MUd 6 & foie Silq ifersia ug=H @afics
STSSN) DI T Bl § AR =7 TgfaU1afi & 9 fa<ii YAdgRT & SfBIHu ST YT a1 ¢ |

g Ugd 3d 33U LD B 3071 8 Sfl U (A= d "iduli-d gfeferdl § Sl 9 dTd IR [9&]d 31 ygd, YiIdH
3R S Uit YUl UG B IG1 ¢ | Ueh fa=INsl = $gl 8, “HRd & o &3, B0l ol 3R W Gider3f ddb ugd &
AR-RID] H ST Th gRIdS THH R gadld di 3G |

STEUT L P & AUS AU ¢ FoTTH STHITSN 3R PRIGR Gl & AU B0l o 24t HTHT 3R 9817 &1d g¢
P DI AN U &I Head A § | B0 B Iuaedl 3fd g ST Ud Agayul 9 g 3R “qaaqH T URd
T T aliee SaR-3ford 21T § U U ¢ I8 Udh 9213 &l dogl ¢ [oi-d| 1 T ¢ b 3Tl a=1db § 0T 3R
SitS Ul BT SUTd 57% U 9¢®HR 100 WidRId gl SIe |

RO SuHTerr=il & urg 1 3Hfe TS 1 §iH @1 UG § | 3T GRIP § URd &1 314 & [daR0 3814 o
Yol g 3R URUMH WY S 6T T ST 2022 & 52 e & &1 T U 3@ 9gh: aP & 3id dP $4.9
fefera g1 Gohdl § - Gaiitd Sy TR Wen &3 | g forgd o= 40! & uRy iR s ul, s[abrd
TS 3R g AT 3R Ya1u T § |

Which one of the following explains Aadhaar?

1. National Identification program
2. National Citizenship program
3. Unified Identification program
4. Unified census program

(1) 1

(2) 2
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3) 3
(4) 4

fFEfIRad § 9 DF YR & WY A1 2

1. AP UG BrichH
2. P ARG SriHH
3. Ui UG 1
4. UBIpd SHIUHT BRIHH
1) 1
) 2
3) 3
(4) 4

1[Option ID=33281] Question Description : commerce_commerce_set 1_english_q96
2[Option ID=33282]
3[Option ID=33283]
4[Option ID=33284]

Sl. No.97
QBID:18097 ‘ ‘ o _ _
India began laying the foundation for a more digital economy more than a decade ago with the launch of a national

identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
mstrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade, and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

FafRad e &1 Sraugde uieu SR 34d YR IR UY & 3R Sl (Faii¥d Sugd) -

YR A T <91 Y A §HG Id 3MUR THS-IPT Ug= brdhH &b URH & 1Y U 3ifdp-iig (f$foiea)
S HIRIT B! g-TE @A 3R T 4T | I8 YUlTel! Tary YA RITMUd 6 & foid Siiq wiferata ugaH (@rfics
g B TG Bl g IR 3 UgfauTafi & 1 faii GHagRl & SBIHRUl & WY a1 ¢ |

g Ugd 3Md 38Tl T B 311 ¢ Sl U [db-<idhd Hiduii-e gfeferd] ¢ Sif (9% dd W fawgd Sidid ygdH, YidH
HR ST Yae UMl UG HR 361 8 | U [N - &gl 3, ~HRd H o4 6, Pl - SR Wy glaursdi a6 ugd &
AR-RID! H 3131 %P gRI 98 UHM UR 9Gdld Bl ST |

SIS H P & AUD SUANT g F5H U3 3R SRIGR Sl & iU Bl DI ifed U= 3R dg-id §1d gu
PV Bl ARTd 92 DI Hedd UM § | BV DI Sud«dl 3Hdd gie DI Uh Ugwayui Jucd g 3R “dadq § URd
Ty T Falfte SaR-Siford o= & 4 U g I8 U [a=IYR &l dgl g (o] ¢1H HIFdl ¢ fdh SiTel =1 1 507 3R
SS Ul BT 3UTd 57% 9§ 9 100 Ul=Id 81 ST |

YR IuHTddrsl & urg Ui Sifée Uiy 3{1g gid &1 YU 8 | 3Td G¥d 8 YR &1 31 &1 f[daru 3a31d o
Gahdl g SR URUITH WREY =1 BT qHT U 2022 & 52 1SR & &1 AT 3{Ed d5dHR GRID o 3fd dd $4.9
feferaH g1 9dbdl § - Gaifeid ey TR-fbH1 Wen & | g e 37 4fori o uiker 3R s uil, sdad
OIS 3R 9] ATd 3R Yaru AMife ¢ |

Which one of the following describes India Stack better?

A. A decentralized public utility offering a low-cost comprehensive digital identity.
B. Payment and data-management system

C. A network for lowering credit costs

D. A trading platform

Choose the correct answer from the options given below:

B) and (C) only
C) and (D) only
B) and (D) only
C) and (D) only

A),
B).
).
¥

i i o,

L{
2.(
3.(A
4.(A
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(1) 1
) 2
(3) 3
(4) 4

2SI H & HYlRad H U $H-®H dgd? auH #Rd © 2

A. U® fadb-<idepd Hdui-d gfeferdl Sil 9 anTd W a%gd Sidig Ugdr UaH $Rdl ¢ |
B. YT 3R Sl Uee WoTel

C. P ANTd HY HR DI 4edd

D. U AMIR® Hd

i 3T 70 f[qdhed! H T Ug! SR &1 98- BIfof -

1.Hdad A, B, 3R C
2. ®Had B, C, 3R D
3. Had A, B, IR D
4. Had A, C, 3R D

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=33285] Question Description : commerce_commerce_set 1_english_q97
2[Option ID=33286]
3[Option ID=33287]
4[Option ID=33288]

Sl. No.98
QBID:18098 _ ‘ - . .
India began laying the foundation for a more digital economy more than a decade ago with the launch of a national

identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
instrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade, and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

FRfRad eI &1 HrauFgdd uieu SR 34d YR WR U & IR Sl (Haiftd Sugd) -

YRT A T <21 ¥ A §HG Id 3MYR THH-IPT Ug= HrdshH &b TRH & 914 U 3ifddp-iig (f3fiea)
SUAR] DI UG IGHAT ARY 41 AT | T8 YTl SHTaR YHT0 RIS 63 & [l Sitq gt ugdH (@@aics
313 S1) Bl T Bl § SR 3= ugfayr=ii & 1y fa<ig YdgRl & BHIH0 BT JY—T &1 ¢ |

g Ugd 3d &1 W &I 3011 ¢ Sl U [db =i Hidui-es gfeferdl g Sif (9% dd W fawgd i1y ygdH, YidH
3R ST Yae UUITell UG B I61 § | U [N - &gl 3, ~HRd H o4 63, Ul d- 3R Wy Yiawisii dd ugd &
IR-RID] | 331 TP §RI TS UHH R d&dld &I A3 |

U Wd & AUS U ¢ SFH IuHTadrel 3R HRIGR HI & g Bll DI 31 Ifirm 3R 9819 &-1d gu
U Bl AN 9T &I Hedds A § | B0 Bl Iudsdl 31 gfs BT U Agwyul 9 g 3R “ddu = § URd
fay 7 Fafftfe SfaR-Sford o=0 & U U ¢~ 9% U [aRI9e BT 6g g [oHd! ¢1d Al ¢ [ STd 1 | 0T 3R
SIS Ul BT SUTd 57% U 9 100 UlT=Id 81 S8 |

YR IuHTdrsl & urg 4i Siféd Ty 319 gid &1 YU 8 | 3Td D H YR &1 311 &1 f[daro) 3a1d o
Gahdl g 3R URUIA WY &= &1 T IUHFT 2022 & 2 T & &1 171 U 3@ 9ghr ad & 3id I $4.9
TeTeaH B 9l § - Galied ey TR Wel & | g Srgd 3= 4f0rt o gRem 3R Wil saa=rd
OIS 3R 9] Ard 3R Yard Amife ¢ |
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Given below are two statements:

Statement I : Credit availability is an important component of economic growth.

Statement IT: India is currently one of the most under leveraged countries in the world.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
1) 1
) 2
3) 3
(4) 4

BIEKAKCRIE AT 1

B 1 : F5U1 SUaedT 3Tl 9fE BT U Hewyf 9ucd ¢ |

@Y 11 : IA | YR g1 & Faifed far-3difad o= § Y U@ ¢ |
SWRIdd HYH & aiiedid H, Fid fqu ML fddbedl & U Ugl SR &1 94 Difofu -

L HYFI1R I Id g
2. FUF 1R 1 GHl A ©
3. HYA 19 8, dipd HUA 11 3T §
4. HUYT 13T G, dibT YA 1 I
1) 1
2) 2
3) 3
4) 4

N

1[Option ID=33289] Question Description : commerce_commerce_set 1_english_q98
2[Option ID=33290]
3[Option ID=33291]
4[Option ID=33292]

Sl. No.99
QBID:18099
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India began laying the foundation for a more digital economy more than a decade ago with the launch of a national
identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
instrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade, and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

FRfRad eI &1 HrauFgde uieu SR 34d YR WR U & IR Glfol (Haifid Sugd) -

YR - T <21 Y A FHG Id 3MYR THS-IPT Ugd brdshH b TRY & 1Y Ud 3ifddp-iiyg (f$foiea)
S HIRIT &1 g-TE @I 3R fdodn 4T | I8 YUllel! Tary YA RI1MUd 6 & foid Siiq wifereta ugaH (@rfics
TS DI T Bl © R =7 Tgfauradi & 9y fa<iiy YoqagRl & SHBIHu ST YT a1 ¢ |

g Ugd 3d &1 Wb &I 3011 ¢ Sl U [db-=<ihd Hiduif-es gfeferdl g Sl (9% dd W fawgd iy ygdH, YidH
3R ST Yae UUITell UST HR 61 § | U [N 3 &gl 3, ~HRd H o4 H3. Ul d- 3R Wy giawisii dd ugd &
IR-iD] H 331 TP §RIES UM R I&dld &I AT |

SIS WP & AUS SUANT § F5H JuHTadsi SR SRIGR il & fiu Bl oI i A 3R d9g-id sH1d gu
PV Bl ARTd 92 &I Heda UM § | BT D1 SU«dl 3Hd gis B Uh Hgw@yul dued g 3R “gadq ¥ URd
fay o Fafftfe SfaR-SIford <=1 & U U g~ I8 U [a=I9e &I dg1 g 19! ¢1d Al ¢ [ STd =1 o 0T 3R
SIS Ul BT SUTd 57% U 9 100 UlT=Id 81 e |

YR IuHiadrel & arg HT A Tg1sg 31 g1 &1 UG € | 3FTe] G2 H HRd D1 3117 BT [9ror 331 of
Gahdl § SR URUITH WREY =1 BT HHT YT 2022 & 52 1210 & &1 THT Y S{Ed dgdH GRID o 3fd dd $4.9
TeTeTaH B 9l § - Galied ey TR Wel & H g SR 3= 4f0rt & gRem 3R s{uill, s@a g
OIS 3R 93¢l Ard 3R Yard il ¢ |

"The system creates biometric IDs to establish proof of residence and has been instrumental in digitizing financial
transactions, among other benefits." The above statement talks about which one of the following ?

. PAN

. DIN

. Aadhaar
. GST

(1) 1

(2) 2

3) 3

(4) 4

g YUITC- AT Y01 T HR o (o8 Siid SiRAS T UgdH ! Ta=1 Bl ¢ 3R T8 3= ugfaeredi & ary fa<da
YHdgRI & 3{DHIIDRU T WIeH &+l g |7

Suad HYH 45 T U [ s IR H Hgl Sl 38l ¢ 2

1. glued
2. Sl3RuA

3. 3R
4. oiegd

(1) 1
() 2
(3) 3
(4) 4

R
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India began laving the foundation for a more digital economy more than a decade ago with the launch of a national
identification program called Aadhaar. The system creates biometric IDs to establish proof of residence and has been
mstrumental in digitizing financial transactions, among other benefits. This initiative is now part of India Stack, a
decentralized public utility offering a low-cost comprehensive digital identity, payment and data management system.
"IndiaStack is likely to lead to a massive change in how India spends, borrows and accesses healthcare", says an expert.
IndiaStack has broad applications including a network for lowering credit costs, making loans more accessible and
affordable for both consumers and businesses. Credit availability is an important component of economic growth, and "India
is currently one of the most under leveraged countries in the world", says the expert, whose team thinks the ratio of credit to
GDP could increase from 57% to 100% over the next decade. Indian consumers are also likely to have more disposable
income. India's income distribution could flip over the next decade, and consequently overall consumption in the country
could be more than double from $2 trillion in 2022 to $ 4.9 trillion by the end of the decade - with the greatest gains going to
non-grocery retail, including apparel and accessories, leisure and recreation, and household goods and services, among other
categories.

FRfRad eI &1 HrauFgde uieu SR 34d YR WR U & IR Glfol (Haifid Sugd) -

YR - T <21 Y A FHG Id 3MYR THS-IPT Ugd brdshH b TRY & 1Y Ud 3ifddp-iiyg (f$foiea)
S HIRIT &1 g-TE @I 3R fdodn 4T | I8 YUllel! Tary YA RI1MUd 6 & foid Siiq wifereta ugaH (@rfics
TS DI T Bl © R =7 Tgfauradi & 9y fa<iiy YoqagRl & SHBIHu ST YT a1 ¢ |

g Ugd 3Md SfST1 T D DI 3711 ¢ Sl U [db-<didhd Hiduii-e gieferd] ¢ Sl (9% dd W fa¥gd Sidig YgdH, YidH
HR ST Yae UUITell UG HR 361 8 | U [N - &gl 3, ~HRd H 4 H3. Pl d- SR Wy glaursdi a6 ugd &
IR-iD] H 331 TP §RIES UM R I&dld &I AT |

SIS WP & AUS SUANT § F5H JuHTadsi SR SRIGR il & fiu Bl oI i A 3R d9g-id sH1d gu
PV Bl ARTd 92 &I Heda UM § | BT D1 SU«dl 3Hd gis B Uh Hgw@yul dued g 3R “gadq ¥ URd
fay T Falftie SaR-Siford o= & U U g I8 Udh [a=I% &I dgl g (o] ¢11 HIFdl ¢ fdh SiTel =1 H F507 3R
SIS Ul BT SUTd 57% U 9 100 UlT=Id 81 e |

YR IuHTddrsil & urg Ui siféd Uy 3{1g g4 &1 YU 8 | 3Td 6D H YR &1 311 &1 f[darol Ia81d o
Gahdl § SR URUITH WREY =1 BT HHT YT 2022 & 52 1210 & &1 THT Y S{Ed dgdH GRID o 3fd dd $4.9
feTeaH B 9l § - Gaitad ey TR Wel & | g Sre 3= 4f0rt o gRer 3R s{uil, saa g
OIS 3R 9] A1e 3R Yaru il ¢ |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : India's income distribution could flip over the next decade.

Reason R : Overall consumption in the country could be more than double from S2 trillion in 2022 to $ 4.9 trillion by the
end of the decade.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A is true but R is false
4. A is false but R is true
(1) 1
(2) 2
3) 3
(4) 4

ﬁﬁ%mﬁqm% : U SYBHYH { Assertion A}%Wﬁﬁ'ﬁ@ﬂ%?ﬁ GURT I HIRU[ (Reason R) & =0H;

SHDHYA A : 3T G2 H HRA I 3 [IRUl IBTe of bl ¢ |
DRUIR : G H AU IGANT 2022 F 52 Ffer T S 1 9 3D ¢ B a2 & 3id dh $4.9 g g1 hdI ¢ |
JIRIdd B & ATdid |, A [GU T fadmedl & U 9g1 SR &1 994 HIfoTu -

1. AR RGAIIAE 3R R, A B U BT §
2. A 3R R GHl U g, cifdhd R, A B U] URAT 81 §
3. ATI G, dfPAR 3TI T
4. A3NAG, dAPIRITA T
1) 1
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) 2
3) 3
(4) 4
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